THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid MS-0129 and MS-0130 Ended At Feb 12, 2025 10:00:00 AM CST CONSTRUCTION/CITY - Sidewalk Installation

Company:	Arroyos Concrete LLC	Nash Construction Co.	Ellsworth Construction OKC dba A- Tech Paving
Base Bid	\$1,030,534.59	\$1,063,091.50	\$1,099,414.38
Alternate 1	\$210,284.68	\$189,429.00	\$215,269.01
TOTAL BID:	\$1,240,819.27	\$1,252,520.50	\$1,314,683.39

Company:	Parathon Construction LLC	SAC Services	Redlands Contracting
Base Bid	\$1,164,883.60	\$1,208,795.05	\$1,328,618.95
Alternate 1	\$189,613.90	\$233,302.95	\$220,046.00
TOTAL BID:	\$1,354,497.50	\$1,442,098.00	\$1,548,664.95

Company:	Wyatt Contracting, Inc. #3	C-P Integrated Services	Rudy Construction Co.
Base Bid	\$1,311,301.75	\$1,356,802.00	\$1,422,165.00
Alternate 1	\$239,438.50	\$240,483.00	\$258,495.00
TOTAL BID:	\$1,550,740.25	\$1,597,285.00	\$1,680,660.00

Company:	T.J. Campbell Construction Co.	
Base Bid	\$1,779,835.45	
Alternate 1	\$391,566.50	
TOTAL BID:	\$2,171,401.95	

Tresha Williams	Chad Harrison	Lori Rice
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- Anti-collusion affidavit not properly notarized
- Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect, and
 Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids
- opened and noting any defects; and

 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MS-0129 and MS-0130 - Sidewalk Installation

Start Date Jan 15, 2025 7:49:28 AM CST Awarded Date Not Yet Awarded

MS-0129 and MS-013001-01 Base Bid: Clearing And	d Gruk	bing				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Nash Construction Co.		First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Parathon Construction LLC		First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Bid Bond attached			
Arroyos Concrete LLC		First Offer - \$7,500.00	1 / lump sum	\$7,500.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Bond was uploaded			
Rudy Construction Co.		First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Y	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SAC Services		First Offer - \$14,810.00	1 / lump sum	\$14,810.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Wyatt Contracting, Inc.		First Offer - \$16,750.00	1 / lump sum	\$16,750.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Bi	Lode: d Bond is Attached t	o this Iten	ו
C-P Integrated Services		First Offer - \$25,000.00	1 / lump sum	\$25,000.00	Y	Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes: Bi	Code: d Bond attached on	this line it	em
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$31,215.93	1 / lump sum	\$31,215.93		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:			
Redlands Contracting		First Offer - \$50,000.00	1 / lump sum	\$50,000.00	Y	Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

I have attached my Bid Bond to this Pay Item

Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$35,800.0	1 / lump sum	\$35,800.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$38,000.0	1 / lump sum	\$38,000.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$41,226.4	5 1 / lump sum	\$41,226.45		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Nash Construction Co.	First Offer - \$45,000.00	1 / lump sum	\$45,000.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$54,344.4	1 1 / lump sum	\$54,344.41		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Redlands Contracting	First Offer - \$60,000.0	1 / lump sum	\$60,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Parathon Construction LLC	First Offer - \$60,000.00	1 / lump sum	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.	First Offer - \$65,000.0	1 / lump sum	\$65,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$85,000.0	1 / lump sum	\$85,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Wyatt Contracting, Inc.	First Offer - \$90,000.00	1 / lump sum	\$90,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

MS-0129 and MS-013001-03 Base Bid: Construction Staking Level I							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Nash Construction Co.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Parathon Construction LLC	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Y		
Product Code:		Supplier Product (Code:				
Agency Notes:		Supplier Notes:					
Wyatt Contracting, Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ		

		Supplier Product Code: Supplier Notes:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$12,476.61	1 / lump sum	\$12,476.61	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Redlands Contracting	First Offer - \$15,000.00	1 / lump sum	\$15,000.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Arroyos Concrete LLC	First Offer - \$19,250.00	1 / lump sum	\$19,250.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Rudy Construction Co.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
SAC Services	First Offer - \$20,200.00	1 / lump sum	\$20,200.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
C-P Integrated Services	First Offer - \$21,500.00	1 / lump sum	\$21,500.00	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
T.J. Campbell Construction Co.	First Offer - \$36,000.00	1 / lump sum	\$36,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC	First Offer - \$10,500.00	1 / lump sum	\$10,500.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Redlands Contracting	First Offer - \$18,000.00	1 / lump sum	\$18,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$22,500.00	1 / lump sum	\$22,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$32,032.17	1 / lump sum	\$32,032.17		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$32,076.00	1 / lump sum	\$32,076.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
SAC Services	First Offer - \$32,160.00	1 / lump sum	\$32,160.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Nash Construction Co.	First Offer - \$32,578.00	1 / lump sum	\$32,578.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
C-P Integrated Services	First Offer - \$42,500.00	1 / lump sum	\$42,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

MS-0129 and MS-013001-05 Base Bid: SWPPP Docu	ument					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Nash Construction Co.		First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
Parathon Construction LLC		First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SAC Services		First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Arroyos Concrete LLC		First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2,848.23	1 / lump sum	\$2,848.23		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Wyatt Contracting, Inc.		First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
C-P Integrated Services		First Offer - \$7,250.00	1 / lump sum	\$7,250.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Redlands Contracting		First Offer - \$10,500.00	1 / lump sum	\$10,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$24,000.00	1 / lump sum	\$24,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

MS-0129 and MS-013001-06 Base Bid: Unclassified Exca	vation				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$10.00	1225 / cubic yard	\$12,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Arroyos Concrete LLC	First Offer - \$11.00	1225 / cubic yard	\$13,475.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
C-P Integrated Services	First Offer - \$11.50	1225 / cubic yard	\$14,087.50		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Parathon Construction LLC	First Offer - \$12.00	1225 / cubic yard	\$14,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Wyatt Contracting, Inc.	First Offer - \$14.15	1225 / cubic yard	\$17,333.75		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Redlands Contracting	First Offer - \$20.00	1225 / cubic yard	\$24,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$20.88	1225 / cubic yard	\$25,578.00		Υ

Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Nash Construction Co.	First Offer - \$25.00	1225 / cubic yard	\$30,625.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$34.00	1225 / cubic yard	\$41,650.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$35.00	1225 / cubic yard	\$42,875.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

MS-0129 and MS-013001-07 Base Bid: Temporary S	ilt Fe	nce				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wyatt Contracting, Inc.		First Offer - \$1.50	1000 / linear feet	\$1,500.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$1.50	1000 / linear feet	\$1,500.00		Y
Product Code:			Supplier Product Code	: :		
Agency Notes:		I	Supplier Notes:			
Parathon Construction LLC		First Offer - \$1.75	1000 / linear feet	\$1,750.00		Y
		Supplier Product Code	::			
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$2.00	1000 / linear feet	\$2,000.00		Y
		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$2.40	1000 / linear feet	\$2,400.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:		T	Supplier Notes:	T		
Redlands Contracting		First Offer - \$4.00	1000 / linear feet	\$4,000.00		Y
Product Code:			Supplier Product Code	::		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$4.14	1000 / linear feet	\$4,140.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:		I	Supplier Notes:	I		
Rudy Construction Co.		First Offer - \$5.00	1000 / linear feet	\$5,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	::		
C-P Integrated Services		First Offer - \$5.00	1000 / linear feet	\$5,000.00		Υ
Product Code:		11130 01161 - \$5.00	Supplier Product Code			•
Agency Notes:			Supplier Notes:	•		
Nash Construction Co.		First Offer - \$5.00	1000 / linear feet	\$5,000.00		Υ
Product Code:			Supplier Product Code	::		
Agency Notes:			Supplier Notes:			

MS-0129 and MS-013001-08 Base Bid: Inlet Protection						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC		First Offer - \$1.50	300 / linear feet	\$450.00		Y
Product Code:		Supplier Product Cod	de:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$2.40	300 / linear feet	\$720.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Redlands Contracting		First Offer - \$3.50	300 / linear feet	\$1,050.00		Υ
Product Code:		Supplier Product Cod	de:			

Agency Notes: Sup		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$4.00	300 / linear feet	\$1,200.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Nash Construction Co.	First Offer - \$5.00	300 / linear feet	\$1,500.00	Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$10.00	300 / linear feet	\$3,000.00	Υ	
		Supplier Product Coo Supplier Notes:	de:		
SAC Services	First Offer - \$10.00	300 / linear feet	\$3,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
C-P Integrated Services	First Offer - \$18.50	300 / linear feet	\$5,550.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$20.76	300 / linear feet	\$6,228.00	Υ	
		Supplier Product Coo Supplier Notes:	de:		
Arroyos Concrete LLC	First Offer - \$25.00	300 / linear feet	\$7,500.00	Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services		First Offer - \$10.00	15 / linear feet	\$150.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$10.00	15 / linear feet	\$150.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Nash Construction Co.		First Offer - \$10.00	15 / linear feet	\$150.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$13.00	15 / linear feet	\$195.00		Y
			Supplier Product Coo Supplier Notes:	de:		
Rudy Construction Co.		First Offer - \$15.00	15 / linear feet	\$225.00		Υ
		Supplier Product Co	de:			
Agency Notes:			Supplier Notes:			
Wyatt Contracting, Inc.		First Offer - \$15.00	15 / linear feet	\$225.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Redlands Contracting		First Offer - \$20.00	15 / linear feet	\$300.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Parathon Construction LLC		First Offer - \$20.00	15 / linear feet	\$300.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$31.43	15 / linear feet	\$471.45		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$45.00	15 / linear feet	\$675.00		Y
			Supplier Product Code: Supplier Notes:			

MS-0129 and MS-013001-10 Base Bid: Removal Of	Concrete Pavement				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$10.00	1065 / square yard	\$10,650.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$10.00	1065 / square yard	\$10,650.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Parathon Construction LLC	First Offer - \$11.00	1065 / square yard	\$11,715.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11.07	1065 / square yard	\$11,789.55		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$13.00	1065 / square yard	\$13,845.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$14.00	1065 / square yard	\$14,910.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$15.00	1065 / square yard	\$15,975.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$16.00	1065 / square yard	\$17,040.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$17.00	1065 / square yard	\$18,105.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Redlands Contracting	First Offer - \$20.00	1065 / square yard	\$21,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

MS-0129 and MS-013001-11 Base Bid: Removal Of Asp	halt Pavement				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC	First Offer - \$9.00	590 / square yard	\$5,310.00		Υ
		Supplier Product Code Supplier Notes:	:		
Arroyos Concrete LLC	First Offer - \$10.00	590 / square yard	\$5,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Nash Construction Co.	First Offer - \$10.00	590 / square yard	\$5,900.00		Υ
		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11.78	590 / square yard	\$6,950.20		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
C-P Integrated Services	First Offer - \$13.00	590 / square yard	\$7,670.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$14.00	590 / square yard	\$8,260.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
SAC Services	First Offer - \$14.00	590 / square yard	\$8,260.00		Υ

Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$15.00	590 / square yard	\$8,850.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Wyatt Contracting, Inc.	First Offer - \$16.00	590 / square yard	\$9,440.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Redlands Contracting	First Offer - \$20.00	590 / square yard	\$11,800.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

MS-0129 and MS-013001-12 Base Bid: Removal Of Gua	ardra	ail				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wyatt Contracting, Inc.		First Offer - \$4.00	90 / linear feet	\$360.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$5.00	90 / linear feet	\$450.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$10.00	90 / linear feet	\$900.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Nash Construction Co.		First Offer - \$10.00	90 / linear feet	\$900.00		Y
		Supplier Product Co Supplier Notes:	de:			
Redlands Contracting		First Offer - \$20.00	90 / linear feet	\$1,800.00		Υ
		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$22.53	90 / linear feet	\$2,027.70		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$24.00	90 / linear feet	\$2,160.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Parathon Construction LLC	П	First Offer - \$25.00	90 / linear feet	\$2,250.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
C-P Integrated Services		First Offer - \$32.00	90 / linear feet	\$2,880.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.	П	First Offer - \$40.00	90 / linear feet	\$3,600.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

MS-0129 and MS-013001-13 Base Bid: Removal Of Sidewalk										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Wyatt Contracting, Inc.	First Offer - \$10.00	50 / square yard	\$500.00		Y					
Product Code:		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								
Arroyos Concrete LLC	First Offer - \$10.00	50 / square yard	\$500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Nash Construction Co.	First Offer - \$10.00	50 / square yard	\$500.00		Y					
Product Code:		Supplier Product Cod	le:							

Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$11.00	50 / square yard	\$550.00	Υ	
		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$13.00	50 / square yard	\$650.00	Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:	·	
Rudy Construction Co.	First Offer - \$15.00	50 / square yard	\$750.00	Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$18.86	50 / square yard	\$943.00	Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Parathon Construction LLC	First Offer - \$20.00	50 / square yard	\$1,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$21.00	50 / square yard	\$1,050.00	Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Redlands Contracting	First Offer - \$50.00	50 / square yard	\$2,500.00	Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services	First Offer - \$12.7	5 2 / each	\$25.50		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$250.0	2 / each	\$500.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$350.0	2 / each	\$700.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			1
Arroyos Concrete LLC	First Offer - \$350.0	2 / each	\$700.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$353.5	7 2 / each	\$707.14		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$500.0	2 / each	\$1,000.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$500.0	2 / each	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$940.0	2 / each	\$1,880.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Parathon Construction LLC	First Offer - \$1,500.0	2 / each	\$3,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Redlands Contracting	First Offer - \$3,500.0	2 / each	\$7,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

MS-0129 and MS-013001-15 Base Bid: (Pl) Audio/Vid	deo Construction Recording				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$900.00	1 / lump sum	\$900.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Nash Construction Co.	First Offer - \$1,000.00		\$1,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Arroyos Concrete LLC	First Offer - \$1,250.00	1 / lump sum	\$1,250.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Redlands Contracting	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Parathon Construction LLC	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,334.95	1 / lump sum	\$2,334.95		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Wyatt Contracting, Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SAC Services	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
C-P Integrated Services	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

C	Heit Beine	Otr. (11-1-1-1	Tatal Briss	A 4 4 - In	D	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Nash Construction Co.	First Offer - \$80.00	8 / cubic yard	\$640.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
SAC Services	First Offer - \$95.00	8 / cubic yard	\$760.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Arroyos Concrete LLC	First Offer - \$100.00	8 / cubic yard	\$800.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Parathon Construction LLC	First Offer - \$105.00	8 / cubic yard	\$840.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
C-P Integrated Services	First Offer - \$200.00	8 / cubic yard	\$1,600.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Redlands Contracting	First Offer - \$220.00	8 / cubic yard	\$1,760.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$300.00	8 / cubic yard	\$2,400.00		Υ	

Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$330.00	8 / cubic yard	\$2,640.00	Y	
Product Code:	Supplier Product C	ode:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$383.28	8 / cubic yard	\$3,066.24	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$525.00	8 / cubic yard	\$4,200.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			

MS-0129 and MS-013001-17 Base Bid: 4 Inch Concret	e Sidewalk				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Nash Construction Co.	First Offer - \$52.00	6811 / square yard	\$354,172.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$53.25	6811 / square yard	\$362,685.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$55.00	6811 / square yard	\$374,605.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$57.50	6811 / square yard	\$391,632.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Parathon Construction LLC	First Offer - \$64.00	6811 / square yard	\$435,904.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SAC Services	First Offer - \$66.00	6811 / square yard	\$449,526.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$67.00	6811 / square yard	\$456,337.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Redlands Contracting	First Offer - \$72.00	6811 / square yard	\$490,392.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$80.00	6811 / square yard	\$544,880.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$110.00	6811 / square yard	\$749,210.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

MS-0129 and MS-013001-18 Base Bid: 6 Inch Concrete Driveway (H.E.S.)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$73.08	1670 / square yard	\$122,043.60		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Arroyos Concrete LLC	First Offer - \$75.00	1670 / square yard	\$125,250.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Nash Construction Co.	First Offer - \$78.00	1670 / square yard	\$130,260.00		Υ					
Product Code:		Supplier Product Code:								

Agency Notes:		Supplier Notes:		
Parathon Construction LLC	First Offer - \$80.00	1670 / square yard	\$133,600.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Redlands Contracting	First Offer - \$88.00	1670 / square yard	\$146,960.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$90.00	1670 / square yard	\$150,300.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Wyatt Contracting, Inc.	First Offer - \$91.00	1670 / square yard	\$151,970.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SAC Services	First Offer - \$95.00	1670 / square yard	\$158,650.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$100.00	1670 / square yard	\$167,000.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$130.00	1670 / square yard	\$217,100.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services		First Offer - \$28.00	87 / linear feet	\$2,436.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$30.00	87 / linear feet	\$2,610.00		Υ
Product Code:		Supplier Product Co	de:			
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$30.00	87 / linear feet	\$2,610.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Nash Construction Co.		First Offer - \$32.00	87 / linear feet	\$2,784.00		Υ
			Supplier Product Co Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$35.28	87 / linear feet	\$3,069.36		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Parathon Construction LLC		First Offer - \$45.00	87 / linear feet	\$3,915.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co.		First Offer - \$50.00	87 / linear feet	\$4,350.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Redlands Contracting		First Offer - \$55.00	87 / linear feet	\$4,785.00		Υ
Product Code: Agency Notes:	·		Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.		First Offer - \$62.00	87 / linear feet	\$5,394.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Wyatt Contracting, Inc.		First Offer - \$66.00	87 / linear feet	\$5,742.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

MS-0129 and MS-013001-20 Base Bid: Conc.Curb (6 I	nch - 18 Inch Barrier-Int	egral)			
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC	First Offer - \$7.0	929 / linear feet	\$6,503.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$13.0	929 / linear feet	\$12,077.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$14.0	1 929 / linear feet	\$13,015.29		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:		
Arroyos Concrete LLC	First Offer - \$15.0	929 / linear feet	\$13,935.00		Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Redlands Contracting	First Offer - \$20.0	929 / linear feet	\$18,580.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$20.0	929 / linear feet	\$18,580.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$25.0	929 / linear feet	\$23,225.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$30.0	929 / linear feet	\$27,870.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
T.J. Campbell Construction Co.	First Offer - \$33.0	929 / linear feet	\$30,657.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
SAC Services	First Offer - \$35.0	929 / linear feet	\$32,515.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

MS-0129 and MS-013001-21 Base Bid: Beam Guardrail	W-Beam Single				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$29.00	148 / linear feet	\$4,292.00		Υ
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:			
Redlands Contracting	First Offer - \$30.00	148 / linear feet	\$4,440.00		Υ
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:			
Nash Construction Co.	First Offer - \$32.00	148 / linear feet	\$4,736.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$33.80	148 / linear feet	\$5,002.40		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SAC Services	First Offer - \$35.00	148 / linear feet	\$5,180.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
T.J. Campbell Construction Co.	First Offer - \$36.00	148 / linear feet	\$5,328.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Parathon Construction LLC	First Offer - \$36.00	148 / linear feet	\$5,328.00		Υ

		Supplier Product Code: Supplier Notes:				
Wyatt Contracting, Inc.	П	First Offer - \$40.00	148 / linear feet	\$5,920.00		Y
			Supplier Product Code: Supplier Notes:			
C-P Integrated Services		First Offer - \$42.00	148 / linear feet	\$6,216.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	П	First Offer - \$50.00	148 / linear feet	\$7,400.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	le:		

MS-0129 and MS-013001-22 Base Bid: Pedestrian Han	drail					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Arroyos Concrete LLC	First Offer - \$45.00	170 / linear foot	\$7,650.00		Υ	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$100.00	170 / linear foot	\$17,000.00		Υ	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				
SAC Services	First Offer - \$125.00	170 / linear foot	\$21,250.00		Υ	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				
Parathon Construction LLC	First Offer - \$130.00	170 / linear foot	\$22,100.00		Υ	
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:				
Wyatt Contracting, Inc.	First Offer - \$160.00	170 / linear foot	\$27,200.00		Υ	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$162.05	170 / linear foot	\$27,548.50		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Nash Construction Co.	First Offer - \$170.00	170 / linear foot	\$28,900.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Redlands Contracting	First Offer - \$180.00	170 / linear foot	\$30,600.00		Υ	
Product Code:		Supplier Product Cod	de:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$200.00	170 / linear foot	\$34,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:			
C-P Integrated Services	First Offer - \$286.50	170 / linear foot	\$48,705.00		Y	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			

MS-0129 and MS-013001-23 Base Bid: Trail Crossing Concrete Flume									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Nash Construction Co.	First Offer - \$500.00	5 / each	\$2,500.00		Υ				
Product Code:	Supplier Product (Code:							
Agency Notes:		Supplier Notes:							
Arroyos Concrete LLC	First Offer - \$750.00	5 / each	\$3,750.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Parathon Construction LLC	First Offer - \$950.00	5 / each	\$4,750.00		Υ				
Product Code:		Supplier Product (Code:						

Agency Notes:		Supplier Notes:		
SAC Services	First Offer - \$1,010.00	5 / each	\$5,050.00	Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,373.46	5 / each	\$6,867.30	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Rudy Construction Co.	First Offer - \$1,500.00	5 / each	\$7,500.00	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Wyatt Contracting, Inc.	First Offer - \$1,500.00	5 / each	\$7,500.00	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
T.J. Campbell Construction Co.	First Offer - \$3,000.00	5 / each	\$15,000.00	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Redlands Contracting	First Offer - \$3,550.00	5 / each	\$17,750.00	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
C-P Integrated Services	First Offer - \$8,500.00	5 / each	\$42,500.00	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC	First Offer - \$100.00	63 / linear feet	\$6,300.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
SAC Services	First Offer - \$101.00	63 / linear feet	\$6,363.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$162.68	63 / linear feet	\$10,248.84		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Wyatt Contracting, Inc.	First Offer - \$187.50	63 / linear feet	\$11,812.50		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$200.00	63 / linear feet	\$12,600.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
C-P Integrated Services	First Offer - \$200.00	63 / linear feet	\$12,600.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Nash Construction Co.	First Offer - \$200.00	63 / linear feet	\$12,600.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Redlands Contracting	First Offer - \$215.00	63 / linear feet	\$13,545.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Arroyos Concrete LLC	First Offer - \$250.00	63 / linear feet	\$15,750.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
T.J. Campbell Construction Co.	First Offer - \$425.00	63 / linear feet	\$26,775.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Nash Construction Co.		First Offer - \$55.00	145 / linear feet	\$7,975.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$59.91	145 / linear feet	\$8,686.95		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$62.00	145 / linear feet	\$8,990.00		Y
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Wyatt Contracting, Inc.		First Offer - \$64.50	145 / linear feet	\$9,352.50		Y
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Parathon Construction LLC		First Offer - \$75.00	145 / linear feet	\$10,875.00		Υ
Product Code:		Supplier Product Code	e:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$81.00	145 / linear feet	\$11,745.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$89.00	145 / linear feet	\$12,905.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$110.00	145 / linear feet	\$15,950.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$125.00	145 / linear feet	\$18,125.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Redlands Contracting		First Offer - \$130.00	145 / linear feet	\$18,850.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			

MS-0129 and MS-013001-26 Base Bid: Retaining Wa	all					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services		First Offer - \$210.00	6 / square yard	\$1,260.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Parathon Construction LLC		First Offer - \$250.00	6 / square yard	\$1,500.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$500.00	6 / square yard	\$3,000.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Nash Construction Co.		First Offer - \$500.00	6 / square yard	\$3,000.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$553.30	6 / square yard	\$3,319.80		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$600.00	6 / square yard	\$3,600.00		Υ
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Redlands Contracting		First Offer - \$1,200.00	6 / square yard	\$7,200.00		Υ

First Offer \$1,500,00	Supplier Product Co Supplier Notes:	de:		
First Offer \$1,500,00				
First Offer \$1 500.00				
First Offer - \$1,390.00	6 / square yard	\$9,540.00	Υ	
Product Code:				
	Supplier Notes:			
First Offer - \$2,000.00	6 / square yard	\$12,000.00	Y	
	Supplier Product Code:			
	Supplier Notes:			
First Offer - \$2,850.00	6 / square yard	\$17,100.00	Y	
	Supplier Product Co	de:		
	Supplier Notes:			
	First Offer - \$2,000.00	Supplier Product Co Supplier Notes: First Offer - \$2,000.00 6 / square yard Supplier Product Co Supplier Notes: First Offer - \$2,850.00 6 / square yard Supplier Product Co	Supplier Product Code: Supplier Notes: First Offer - \$2,000.00 6 / square yard \$12,000.00 Supplier Product Code: Supplier Notes: First Offer - \$2,850.00 6 / square yard \$17,100.00 Supplier Product Code:	

MS-0129 and MS-013001-27 Base Bid: Solid Slab Soddii	ng				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$4.00	4048 / square yard	\$16,192.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$4.10	4048 / square yard	\$16,596.80		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$4.75	4048 / square yard	\$19,228.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$4.75	4048 / square yard	\$19,228.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Parathon Construction LLC	First Offer - \$4.95	4048 / square yard	\$20,037.60		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$5.00	4048 / square yard	\$20,240.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Redlands Contracting	First Offer - \$5.00	4048 / square yard	\$20,240.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:	+22.25.22		
Arroyos Concrete LLC	First Offer - \$5.50	4048 / square yard	\$22,264.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Nash Construction Co.	First Offer - \$7.00	4048 / square yard	\$28,336.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$8.75	4048 / square yard	\$35,420.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		

MS-0129 and MS-013001-28 Base Bid: Aggregate Base Type A								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Parathon Construction LLC	First Offer - \$49.00	308 / cubic yard	\$15,092.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Arroyos Concrete LLC	First Offer - \$60.00	308 / cubic yard	\$18,480.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Nash Construction Co.	First Offer - \$60.00	308 / cubic yard	\$18,480.00		Y			
Product Code:		Supplier Product Co	de:					

Agency Notes:	Supplier Notes:				
Redlands Contracting	First Offer - \$78.00	308 / cubic yard	\$24,024.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$89.28	308 / cubic yard	\$27,498.24	Υ	
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	de:			
Rudy Construction Co.	First Offer - \$90.00	308 / cubic yard	\$27,720.00	Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
SAC Services	First Offer - \$90.00	308 / cubic yard	\$27,720.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$110.00	308 / cubic yard	\$33,880.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$125.00	308 / cubic yard	\$38,500.00	Υ	
		Supplier Product Coo Supplier Notes:	de:		
Wyatt Contracting, Inc.	First Offer - \$200.00	308 / cubic yard	\$61,600.00	Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

MS-0129 and MS-013001-29 Base Bid: Tactile Warn	ing Device-New					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Parathon Construction LLC	First Offer - \$30.00	382 / square feet	\$11,460.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Arroyos Concrete LLC	First Offer - \$30.00	382 / square feet	\$11,460.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Nash Construction Co.	First Offer - \$35.00	382 / square feet	\$13,370.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SAC Services	First Offer - \$38.00	382 / square feet	\$14,516.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$40.00	382 / square feet	\$15,280.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$42.39	382 / square feet	\$16,192.98		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Wyatt Contracting, Inc.	First Offer - \$45.00	382 / square feet	\$17,190.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Redlands Contracting	First Offer - \$55.00	382 / square feet	\$21,010.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
C-P Integrated Services	First Offer - \$56.00	382 / square feet	\$21,392.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$66.00	382 / square feet	\$25,212.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

MS-0129 and MS-013001-30 Base Bid: Water Valve	Adju	st To Grade				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC		First Offer - \$100.00	5 / each	\$500.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$400.00	5 / each	\$2,000.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
SAC Services		First Offer - \$450.00	5 / each	\$2,250.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Arroyos Concrete LLC		First Offer - \$500.00	5 / each	\$2,500.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Nash Construction Co.		First Offer - \$600.00	5 / each	\$3,000.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$800.00	5 / each	\$4,000.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$858.37	5 / each	\$4,291.85		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
C-P Integrated Services		First Offer - \$1,000.00	5 / each	\$5,000.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Redlands Contracting		First Offer - \$1,050.00	5 / each	\$5,250.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Wyatt Contracting, Inc.		First Offer - \$1,325.00	5 / each	\$6,625.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

MS-0129 and MS-013001-31 Base Bid: Water Meter Relo	ocation				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$500.00	1 / each	\$500.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$800.00	1 / each	\$800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SAC Services	First Offer - \$1,200.00	1 / each	\$1,200.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Nash Construction Co.	First Offer - \$1,200.00	1 / each	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Parathon Construction LLC	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,934.71	1 / each	\$1,934.71		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Wyatt Contracting, Inc.	First Offer - \$2,500.00	1 / each	\$2,500.00		Υ

110 110010				
		Code:		
	Supplier Notes:			
First Offer - \$3,000.00	1 / each	\$3,000.00	Y	
	Supplier Product (Code:		
	Supplier Notes:			
First Offer - \$5,500.00	1 / each	\$5,500.00	Y	
	Supplier Product Code:			
	Supplier Notes:			
First Offer - \$7,500.00	1 / each	\$7,500.00	Υ	
	Supplier Product (Code:		
	Supplier Notes:			
	First Offer - \$3,000.00 First Offer - \$5,500.00	Supplier Product (Supplier Notes: 1 / each Supplier Product (Supplier Product (Supplier Notes: First Offer - \$5,500.00 1 / each Supplier Product (Supplier Product (Supplier Notes: First Offer - \$7,500.00 1 / each Supplier Product (Supplier Notes: Supplier Product (Supplier Product Code: Supplier Notes:	

MS-0129 and MS-013001-32 Base Bid: Meter Boxes Ad	just To Grade				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC	First Offer - \$250.00	5 / each	\$1,250.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SAC Services	First Offer - \$350.00	5 / each	\$1,750.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$400.00	5 / each	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Arroyos Concrete LLC	First Offer - \$500.00	5 / each	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Nash Construction Co.	First Offer - \$500.00	5 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$541.72	5 / each	\$2,708.60		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$800.00	5 / each	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Redlands Contracting	First Offer - \$950.00	5 / each	\$4,750.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
C-P Integrated Services	First Offer - \$950.00	5 / each	\$4,750.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Wyatt Contracting, Inc.	First Offer - \$1,325.00	5 / each	\$6,625.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

MS-0129 and MS-013001-33 Base Bid: Adjust Irrigation					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services	First Offer - \$225.00	4 / lump sum	\$900.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$300.00	4 / lump sum	\$1,200.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$800.00	4 / lump sum	\$3,200.00		Υ
Product Code:		Supplier Product (Code:		

Agency Notes:		Supplier Notes:				
Parathon Construction LLC	First Offer - \$1,000.00	4 / lump sum	\$4,000.00	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Redlands Contracting	First Offer - \$1,900.00	4 / lump sum	\$7,600.00	Υ		
Product Code:		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				
Wyatt Contracting, Inc.	First Offer - \$2,000.00	4 / lump sum	\$8,000.00	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Arroyos Concrete LLC	First Offer - \$2,500.00	4 / lump sum	\$10,000.00	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$3,000.00	4 / lump sum	\$12,000.00	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,061.22	4 / lump sum	\$12,244.88	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
SAC Services	First Offer - \$7,200.00	4 / lump sum	\$28,800.00	Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

MS-0129 and MS-013001-34 Base Bid: (PI) Remove	And h					_
Supplier		Unit Price	\	Total Price	Attch.	Docs
Nash Construction Co.		First Offer - \$250.00	1 / each	\$250.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:		l	Supplier Notes:			
Parathon Construction LLC		First Offer - \$500.00	1 / each	\$500.00		Y
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$700.00	1 / each	\$700.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$1,080.01	1 / each	\$1,080.01		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Redlands Contracting		First Offer - \$2,500.00	1 / each	\$2,500.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Wyatt Contracting, Inc.		First Offer - \$2,500.00	1 / each	\$2,500.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$3,500.00	1 / each	\$3,500.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Arroyos Concrete LLC		First Offer - \$7,500.00	1 / each	\$7,500.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$8,300.00	1 / each	\$8,300.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
C-P Integrated Services		First Offer - \$20,000.00	1 / each	\$20,000.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		

MS-0129 and MS-013001-35 Base Bid: (PI)Remove & R	ese	t Light Pole				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC		First Offer - \$0.00	1 / each	\$0.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$1.00	1 / each	\$1.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Redlands Contracting		First Offer - \$1.00	1 / each	\$1.00		Y
Agency Notes:			Supplier Notes: Per Addendum this	item is supposed to	be remov	ved.
Arroyos Concrete LLC Product Code:		First Offer - \$1.00	1 / each Supplier Product (\$1.00 Code:		Υ
Agency Notes:			Supplier Notes: There is an addend	um mentioning this	was remo	ved.
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$1.13	1 / each	\$1.13		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$1.20	1 / each	\$1.20		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
C-P Integrated Services	П	First Offer - \$1.50	1 / each	\$1.50		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Nash Construction Co.		First Offer - \$2.00	1 / each	\$2.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Wyatt Contracting, Inc.		First Offer - \$1,000.00	1 / each	\$1,000.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SAC Services	\prod	First Offer - \$2,500.00	1 / each	\$2,500.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

MS-0129 and MS-013001-36 Base Bid: (Pl)Remove & Re	set Electric Box				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC	First Offer - \$600.00	2 / each	\$1,200.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Redlands Contracting	First Offer - \$1,850.00	2 / each	\$3,700.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$1,900.00	2 / each	\$3,800.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$1,996.00	2 / each	\$3,992.00		Υ

Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00	Υ		
		Supplier Product Code: Supplier Notes:				
Nash Construction Co.	First Offer - \$2,028.00	2 / each	\$4,056.00	Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,044.62	2 / each	\$4,089.24	Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SAC Services	First Offer - \$2,115.00	2 / each	\$4,230.00	Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$2,200.00	2 / each	\$4,400.00	Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
C-P Integrated Services	First Offer - \$2,600.00	2 / each	\$5,200.00	Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

Supplier	Unit P	rice Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC	First Offer - \$175	.00 8 / each	\$1,400.00		Υ
Product Code:		Supplier Produ			
Agency Notes:		Supplier Notes	:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$338	.57 8 / each	\$2,708.56		Y
Product Code:		Supplier Produ			
Agency Notes:		Supplier Notes			
Nash Construction Co.	First Offer - \$350		\$2,800.00		Y
Product Code: Agency Notes:		Supplier Produ Supplier Notes			
Rudy Construction Co.	First Offer - \$400	.00 8 / each	\$3,200.00		Υ
Product Code: Agency Notes:		Supplier Produ Supplier Notes			
Wyatt Contracting, Inc.	First Offer - \$500	.00 8 / each	\$4,000.00		Υ
Product Code:		Supplier Produ			
Agency Notes:		Supplier Notes			
Arroyos Concrete LLC	First Offer - \$500		\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Produ Supplier Notes			
SAC Services	First Offer - \$750	.00 8 / each	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Produ Supplier Notes			
T.J. Campbell Construction Co.	First Offer - \$1,000	.00 8 / each	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Produ Supplier Notes			
Redlands Contracting	First Offer - \$1,500	.00 8 / each	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Produ Supplier Notes			
C-P Integrated Services	First Offer - \$1,800	.00 8 / each	\$14,400.00		Υ
Product Code: Agency Notes:		Supplier Produ Supplier Notes			

MS-0129 and MS-013001-38 Base Bid: Remove And Replace Tree							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Parathon Construction LLC	First Offer - \$500.00	1 / each	\$500.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Nash Construction Co.	First Offer - \$900.00	1 / each	\$900.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SAC Services	First Offer - \$1,100.00	1 / each	\$1,100.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Wyatt Contracting, Inc.	First Offer - \$2,500.00	1 / each	\$2,500.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Arroyos Concrete LLC	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,747.24	1 / each	\$3,747.24		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$4,000.00	1 / each	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Redlands Contracting	First Offer - \$4,500.00	1 / each	\$4,500.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
C-P Integrated Services	First Offer - \$4,500.00	1 / each	\$4,500.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

	lace Landscape				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arroyos Concrete LLC	First Offer - \$20.00	5 / square yard	\$100.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$100.00	5 / square yard	\$500.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Parathon Construction LLC	First Offer - \$200.00	5 / square yard	\$1,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$500.00	5 / square yard	\$2,500.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$600.00	5 / square yard	\$3,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Redlands Contracting	First Offer - \$950.00	5 / square yard	\$4,750.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$1,000.00	5 / square yard	\$5,000.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,512.86	5 / square yard	\$7,564.30		Υ

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
SAC Services	First Offer - \$2,000.00	5 / square yard		\$10,000.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
C-P Integrated Services	First Offer - \$2,150.00	5 / square yard		\$10,750.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

MS-0129 and MS-013001-40 Base Bid: Guardrail End Tr	eatment (Get)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Redlands Contracting	First Offer - \$3,250.00	4 / each	\$13,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Arroyos Concrete LLC	First Offer - \$3,514.50	4 / each	\$14,058.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Nash Construction Co.	First Offer - \$3,570.00	4 / each	\$14,280.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
SAC Services	First Offer - \$3,595.00	4 / each	\$14,380.00		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$3,661.16	4 / each	\$14,644.64		Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$3,800.00	4 / each	\$15,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Parathon Construction LLC	First Offer - \$3,800.00	4 / each	\$15,200.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
C-P Integrated Services	First Offer - \$4,585.00	4 / each	\$18,340.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Wyatt Contracting, Inc.	First Offer - \$5,000.00	4 / each	\$20,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$6,000.00	4 / each	\$24,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

MS-0129 and MS-013001-41 Base Bid: Pedestrian Push Button Station And Sign								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Wyatt Contracting, Inc.	First Offer - \$2,750.00	4 / each	\$11,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
SAC Services	First Offer - \$2,888.00	4 / each	\$11,552.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Arroyos Concrete LLC	First Offer - \$2,915.00	4 / each	\$11,660.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Redlands Contracting	First Offer - \$2,950.00	4 / each	\$11,800.00		Υ			
Product Code:		Supplier Product (Code:					

Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$2,961.00	4 / each	\$11,844.00	Υ	
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,985.25	4 / each	\$11,941.00	Υ	
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$3,000.00	4 / each	\$12,000.00	Υ	
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
Parathon Construction LLC	First Offer - \$3,000.00	4 / each	\$12,000.00	Υ	
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$3,200.00	4 / each	\$12,800.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$3,800.00	4 / each	\$15,200.00	Υ	
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			

MS-0129 and MS-013001-42 Base Bid: Pedestrian Sig	gnal	Head				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wyatt Contracting, Inc.		First Offer - \$900.00	4 / each	\$3,600.00		Υ
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$946.00	4 / each	\$3,784.00		Υ
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Redlands Contracting		First Offer - \$950.00	4 / each	\$3,800.00		Υ
Product Code:			Supplier Product (Code:		
Agency Notes:		l	Supplier Notes:	I		
Nash Construction Co.		First Offer - \$961.00	4 / each	\$3,844.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SAC Services		First Offer - \$966.00	4 / each	\$3,864.00		Υ
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$968.80	4 / each	\$3,875.20		Υ
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$1,000.00	4 / each	\$4,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$1,100.00	4 / each	\$4,400.00		Υ
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Parathon Construction LLC		First Offer - \$1,152.00	4 / each	\$4,608.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
C-P Integrated Services		First Offer - \$1,250.00	4 / each	\$5,000.00		Υ
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			

MS-0129 and MS-013001-43 Base Bid: Mast Arm Mounted Signs(Alum.)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

h., ., a						
Wyatt Contracting, Inc.		First Offer - \$80.00	44 / square feet	\$3,520.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:		ı	Supplier Notes:			
Redlands Contracting		First Offer - \$85.00	44 / square feet	\$3,740.00	Y	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$87.45	44 / square feet	\$3,847.80	Y	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$88.50	44 / square feet	\$3,894.00	Y	
Product Code:			Supplier Product Co	de:		
		Supplier Notes:				
Nash Construction Co.		First Offer - \$89.00	44 / square feet	\$3,916.00	Υ	
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$89.56	44 / square feet	\$3,940.64	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$95.00	44 / square feet	\$4,180.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$96.00	44 / square feet	\$4,224.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Parathon Construction LLC		First Offer - \$102.00	44 / square feet	\$4,488.00	Υ	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$115.00	44 / square feet	\$5,060.00	Y	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			

S I'			0	In :	044.1		
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Wyatt Contracting, Inc.		First Offer - \$1,200.00	3 / each	\$3,600.00		Y	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
Redlands Contracting		First Offer - \$1,250.00	3 / each	\$3,750.00		Υ	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$1,276.00	3 / each	\$3,828.00		Y	
Product Code:			Supplier Product C	ode:			
Agency Notes:			Supplier Notes:				
Nash Construction Co.		First Offer - \$1,296.00	3 / each	\$3,888.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$1,306.75	3 / each	\$3,920.25		Y	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
SAC Services		First Offer - \$1,376.00	3 / each	\$4,128.00		Υ	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$1,400.00	3 / each	\$4,200.00		Y	
Product Code:			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$1,400.00	3 / each	\$4,200.00		Υ	
Product Code:			Supplier Product C	ode:			

Agency Notes:		Supplier Notes:				
C-P Integrated Services	First Offer - \$1,675.00	3 / each	\$5,025.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Parathon Construction LLC	First Offer - \$1,740.00	3 / each	\$5,220.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

MS-0129 and MS-013001-45 Base Bid: Traffic Stripe (24 Inch Wide)					
Supplier	Unit Pri	e Qty/Unit	Total Price	Attch.	Docs	
Redlands Contracting	First Offer - \$35.0	216 / linear feet	\$7,560.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Rudy Construction Co.	First Offer - \$40.0	216 / linear feet	\$8,640.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Wyatt Contracting, Inc.	First Offer - \$40.0	216 / linear feet	\$8,640.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Parathon Construction LLC	First Offer - \$41.5	216 / linear feet	\$8,964.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
SAC Services	First Offer - \$47.0	216 / linear feet	\$10,152.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Arroyos Concrete LLC	First Offer - \$49.9	4 216 / linear feet	\$10,787.04		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Nash Construction Co.	First Offer - \$51.0	216 / linear feet	\$11,016.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
T.J. Campbell Construction Co.	First Offer - \$55.0	216 / linear feet	\$11,880.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$56.3	3 216 / linear feet	\$12,167.28		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
C-P Integrated Services	First Offer - \$65.5	216 / linear feet	\$14,148.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

MS-0129 and MS-013001-46 Base Bid: 1Way3Sec.Adj.Sig	g.Hd.S-6				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Redlands Contracting	First Offer - \$1,200.00	4 / each	\$4,800.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Wyatt Contracting, Inc.	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$1,250.00	4 / each	\$5,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$1,274.00	4 / each	\$5,096.00		Υ
Product Code: Agency Notes:	_	Supplier Product (Supplier Notes:	Code:		

Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,284.22	4 / each	\$5,136.88	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,300.00	4 / each	\$5,200.00	Υ	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$1,354.00	4 / each	\$5,416.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$1,400.00	4 / each	\$5,600.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Parathon Construction LLC	First Offer - \$1,578.00	4 / each	\$6,312.00	Υ	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$1,650.00	4 / each	\$6,600.00	Υ	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

MS-0129 and MS-013001-47 Base Bid: 1Way5Sec.Adj	j.Sig.Hd.S-19						
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs		
Redlands Contracting	First Offer - \$1,950.00	1 / each	\$1,950.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Wyatt Contracting, Inc.	First Offer - \$2,000.00	1 / each	\$2,000.00		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
T.J. Campbell Construction Co.	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
SAC Services	First Offer - \$2,057.00	1 / each	\$2,057.00		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Arroyos Concrete LLC	First Offer - \$2,057.00	1 / each	\$2,057.00		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Nash Construction Co.	First Offer - \$2,090.00	1 / each	\$2,090.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,106.57	1 / each	\$2,106.57		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Rudy Construction Co.	First Offer - \$2,300.00	1 / each	\$2,300.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
C-P Integrated Services	First Offer - \$2,700.00	1 / each	\$2,700.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Parathon Construction LLC	First Offer - \$3,420.00	1 / each	\$3,420.00		Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				

MS-0129 and MS-013001-48 Base Bid: 1Way3Sec.Adj.Sig.Hd.S-9								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Redlands Contracting	First Offer -	\$1,200.00	1 / each	\$1,200.00		Υ		

oros Glaswani		113 114313					
Product Code: St			Supplier Product (Code:			
Agency Notes: Su			Supplier Notes:				
Wyatt Contracting, Inc.		First Offer - \$1,200.00	1 / each	\$1,200.00	Y		
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
SAC Services		First Offer - \$1,254.00	1 / each	\$1,254.00	Y		
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$1,254.00	1 / each	\$1,254.00	Y		
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
Nash Construction Co.		First Offer - \$1,274.00	1 / each	\$1,274.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$1,284.22	1 / each	\$1,284.22	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$1,300.00	1 / each	\$1,300.00	Y		
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$1,400.00	1 / each	\$1,400.00	Y		
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
C-P Integrated Services		First Offer - \$1,650.00	1 / each	\$1,650.00	Y		
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				
Parathon Construction LLC		First Offer - \$1,770.00	1 / each	\$1,770.00	Y		
Product Code:			Supplier Product (Code:			
Agency Notes:			Supplier Notes:				

- "					_
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Redlands Contracting	First Offer - \$1.95	1310 / linear feet	\$2,554.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$1.98	1310 / linear feet	\$2,593.80		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$2.00	1310 / linear feet	\$2,620.00		Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2.00	1310 / linear feet	\$2,620.00		Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.03	1310 / linear feet	\$2,659.30		Υ
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$2.05	1310 / linear feet	\$2,685.50		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$2.10	1310 / linear feet	\$2,751.00		Υ
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$2.20	1310 / linear feet	\$2,882.00		Υ
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

C-P Integrated Services	First Offer - \$2.75	1310 / linear feet	\$3,602.50	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Parathon Construction LLC	First Offer - \$6.00	1310 / linear feet	\$7,860.00	Υ		
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				

MS-0129 and MS-013001-50 Base Bid: 2/C Traffic Signal Electrical Cable									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Redlands Contracting	First Offer - \$2.05	3085 / linear feet	\$6,324.25		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wyatt Contracting, Inc.	First Offer - \$2.20	3085 / linear feet	\$6,787.00		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
Arroyos Concrete LLC	First Offer - \$2.20	3085 / linear feet	\$6,787.00		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$2.25	3085 / linear feet	\$6,941.25		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2.25	3085 / linear feet	\$6,941.25		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$2.40	3085 / linear feet	\$7,404.00		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
Nash Construction Co.	First Offer - \$2.50	3085 / linear feet	\$7,712.50		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
C-P Integrated Services	First Offer - \$3.00	3085 / linear feet	\$9,255.00		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							
SAC Services	First Offer - \$3.00	3085 / linear feet	\$9,255.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Parathon Construction LLC	First Offer - \$7.20	3085 / linear feet	\$22,212.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

MS-0129 and MS-013001-51 Base Bid: 5/C Traffic Signal Electrical Cable									
Supplier	Unit	Price	Qty/Unit	Total Price	Attch.	Docs			
Redlands Contracting	First Offer - \$	\$5.10	3310 / linear feet	\$16,881.00		Υ			
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:					
Wyatt Contracting, Inc.	First Offer - \$	\$5.50	3310 / linear feet	\$18,205.00		Υ			
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:					
Arroyos Concrete LLC	First Offer - \$	\$5.50	3310 / linear feet	\$18,205.00		Υ			
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:					
Nash Construction Co.	First Offer - \$	\$5.60	3310 / linear feet	\$18,536.00		Υ			
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:					
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$	\$5.63	3310 / linear feet	\$18,635.30		Υ			

Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
Rudy Construction Co.	First Offer - \$6.00	3310 / linear feet	\$19,860.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
T.J. Campbell Construction Co.	First Offer - \$6.00	3310 / linear feet	\$19,860.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
SAC Services	First Offer - \$6.50	3310 / linear feet	\$21,515.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
C-P Integrated Services	First Offer - \$7.50	3310 / linear feet	\$24,825.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
Parathon Construction LLC	First Offer - \$12.00	3310 / linear feet	\$39,720.00	Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	

MS-0129 and MS-013001-52 Base Bid: 21/C Traffic S	ignal Electrical Cable						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Redlands Contracting	First Offer - \$11.08	2590 / linear feet	\$28,697.20		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Wyatt Contracting, Inc.	First Offer - \$12.00	2590 / linear feet	\$31,080.00		Y		
Product Code:		Supplier Product Code	: :				
Agency Notes:		Supplier Notes:					
Arroyos Concrete LLC	First Offer - \$12.10	2590 / linear feet	\$31,339.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Nash Construction Co.	First Offer - \$12.30	2590 / linear feet	\$31,857.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$12.39	2590 / linear feet	\$32,090.10		Υ		
Product Code:		Supplier Product Code	: :				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$13.00	2590 / linear feet	\$33,670.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
SAC Services	First Offer - \$13.00	2590 / linear feet	\$33,670.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Rudy Construction Co.	First Offer - \$13.20	2590 / linear feet	\$34,188.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
C-P Integrated Services	First Offer - \$16.00	2590 / linear feet	\$41,440.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e: -				
Parathon Construction LLC	First Offer - \$24.00	2590 / linear feet	\$62,160.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				

MS-0129 and MS-013001-53 Base Bid: Pole & 50' Ts Mst.Arm(G.Stl.)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Redlands Contracting	First Offer - \$43,000.00	1 / each	\$43,000.00		Υ			
Product Code:		Supplier Product	Code:					

- 100 - 1101							
Agency Notes:			Supplier Notes:				
Wyatt Contracting, Inc.		First Offer - \$45,000.00	1 / each	\$45,000.00	Υ		
Product Code: S			Supplier Product Code:				
			Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$45,650.00	1 / each	\$45,650.00	Υ		
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Nash Construction Co.		First Offer - \$46,364.00	1 / each	\$46,364.00	Υ		
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
SAC Services		First Offer - \$46,650.00	1 / each	\$46,650.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$46,750.17	1 / each	\$46,750.17	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$50,000.00	1 / each	\$50,000.00	Y		
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$55,000.00	1 / each	\$55,000.00	Y		
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Parathon Construction LLC		First Offer - \$55,000.00	1 / each	\$55,000.00	Y		
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
C-P Integrated Services		First Offer - \$59,500.00	1 / each	\$59,500.00	Υ		
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				

MS-0129 and MS-013001-54 Base Bid: (PI)Remove	& Reset Traf.Sig.Equipment				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wyatt Contracting, Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SAC Services	First Offer - \$10,304.00	1 / lump sum	\$10,304.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Parathon Construction LLC	First Offer - \$10,404.00	1 / lump sum	\$10,404.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Redlands Contracting	First Offer - \$10,500.00	1 / lump sum	\$10,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Arroyos Concrete LLC	First Offer - \$10,890.00	1 / lump sum	\$10,890.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Nash Construction Co.	First Offer - \$11,061.00	1 / lump sum	\$11,061.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$11,152.45	1 / lump sum	\$11,152.45		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Υ

Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
C-P Integrated Services First Offer - \$14,500.00		1 / lump sum	\$14,500.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

MS-0129 and MS-013001-55 Base Bid: Pull Box(Size II)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Redlands Contracting	First Offer - \$1,900.00	1 / each	\$1,900.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$2,000.00	1 / each	\$2,000.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$2,068.00	1 / each	\$2,068.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$2,101.00	1 / each	\$2,101.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$2,117.84	1 / each	\$2,117.84		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2,200.00	1 / each	\$2,200.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$2,300.00	1 / each	\$2,300.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$2,568.00	1 / each	\$2,568.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$2,750.00	1 / each	\$2,750.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Parathon Construction LLC	First Offer - \$3,300.00	1 / each	\$3,300.00		Y
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

MS-0129 and MS-013001-56 Base Bid: 15' Mtg.Ht.Ts Pec	l.Pole(G.Stl.)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Redlands Contracting	First Offer - \$1,680.00	1 / each	\$1,680.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:	Supplier Notes:					
Wyatt Contracting, Inc.	First Offer - \$1,700.00	1 / each	\$1,700.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:	Supplier Notes:					
Arroyos Concrete LLC	First Offer - \$1,804.00	1 / each	\$1,804.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:	Supplier Notes:					
Nash Construction Co.	First Offer - \$1,833.00	1 / each	\$1,833.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,847.48	1 / each	\$1,847.48		Y	
Product Code:		Supplier Product (Code:			

Agency Notes:		Supplier Notes:				
SAC Services	First Offer - \$1,895.00	1 / each	\$1,895.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:	Supplier Notes:					
Rudy Construction Co.	First Offer - \$2,000.00	1 / each	\$2,000.00	Υ		
Product Code:	Supplier Product Code:					
Agency Notes:	Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$2,000.00	1 / each	\$2,000.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
C-P Integrated Services	First Offer - \$2,450.00	1 / each	\$2,450.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Parathon Construction LLC	First Offer - \$5,400.00	1 / each	\$5,400.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba A-Tech Paving	First Offe	r - \$79.02	380 / square yard	\$30,027.60		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
SAC Services	First Offe	r- \$82.00	380 / square yard	\$31,160.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC	First Offe	r - \$90.00	380 / square yard	\$34,200.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Redlands Contracting	First Offe	r - \$98.00	380 / square yard	\$37,240.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services	First Offer	- \$108.00	380 / square yard	\$41,040.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Parathon Construction LLC	First Offer	- \$115.00	380 / square yard	\$43,700.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.	First Offer	- \$145.00	380 / square yard	\$55,100.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Wyatt Contracting, Inc.	First Offer	- \$147.00	380 / square yard	\$55,860.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Nash Construction Co.	First Offer	- \$180.00	380 / square yard	\$68,400.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.	First Offer	- \$200.00	380 / square yard	\$76,000.00		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			

MS-0129 and MS-0130–01-58 Base Bid: P-3 Drilled Shaft for Pedestrian Pole							
Supplier	Un	it Price	Qty/Unit	Total Price	Attch.	Docs	
Redlands Contracting	First Offer - \$1,	,200.00	3 / each	\$3,600.00		Y	
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Wyatt Contracting, Inc.	First Offer - \$1,250.00	3 / each	\$3,750.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SAC Services	First Offer - \$1,298.00	3 / each	\$3,894.00	Y		
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Arroyos Concrete LLC	First Offer - \$1,298.00	3 / each	\$3,894.00	Y		
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Nash Construction Co.	First Offer - \$1,319.00	3 / each	\$3,957.00	Υ		
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,329.28	3 / each	\$3,987.84	Υ		
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$1,400.00	3 / each	\$4,200.00	Υ		
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,400.00	3 / each	\$4,200.00	Υ		
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
C-P Integrated Services	First Offer - \$1,700.00	3 / each	\$5,100.00	Υ		
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Parathon Construction LLC	First Offer - \$3,000.00	3 / each	\$9,000.00	Υ		
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				

MS-0129 and MS-013001-59 Base Bid: Drilled Shafe Supplier	1011	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC		First Offer - \$900.00	15 / linear foot		Atten.	Y
		First Offer - \$900.00		\$13,500.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Redlands Contracting		First Offer - \$1,000.00	15 / linear foot	\$15,000.00		Υ
Product Code: Agency Notes:	<u>'</u>		Supplier Product Co Supplier Notes:	ode:		
Wyatt Contracting, Inc.		First Offer - \$1,000.00	15 / linear foot	\$15,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Arroyos Concrete LLC		First Offer - \$1,045.00	15 / linear foot	\$15,675.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Nash Construction Co.		First Offer - \$1,062.00	15 / linear foot	\$15,930.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$1,070.18	15 / linear foot	\$16,052.70		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
SAC Services		First Offer - \$1,146.00	15 / linear foot	\$17,190.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.		First Offer - \$1,200.00	15 / linear foot	\$18,000.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.		First Offer - \$1,200.00	15 / linear foot	\$18,000.00		Y
Product Code:			Supplier Product Co	ode:		

Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$1,400.00	15 / linear foot	\$21,000.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

MS-0129 and MS-013001-60 Base Bid: 2" PVC SCH. 4	10 Plas	stic Conduit Bored					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Redlands Contracting		First Offer - \$39.00	75 / linear foot	\$2,925.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Wyatt Contracting, Inc.		First Offer - \$40.00	75 / linear foot	\$3,000.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Arroyos Concrete LLC		First Offer - \$42.35	75 / linear foot	\$3,176.25		Υ	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				
SAC Services		First Offer - \$42.50	75 / linear foot	\$3,187.50		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$43.37	75 / linear foot	\$3,252.75		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Nash Construction Co.		First Offer - \$44.00	75 / linear foot	\$3,300.00		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$46.00	75 / linear foot	\$3,450.00		Υ	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$50.00	75 / linear foot	\$3,750.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
C-P Integrated Services		First Offer - \$55.50	75 / linear foot	\$4,162.50		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Parathon Construction LLC		First Offer - \$84.00	75 / linear foot	\$6,300.00		Υ	
Product Code:			Supplier Product Co	ode:			
Agency Notes:			Supplier Notes:				

MS-0129 and MS-013001-61 Base Bid: 2" PVC SCH. 40 Pl	as	stic Conduit Trenched	<u> </u>			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC		First Offer - \$33.60	85 / linear foot	\$2,856.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Redlands Contracting		First Offer - \$34.00	85 / linear foot	\$2,890.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Wyatt Contracting, Inc.		First Offer - \$35.00	85 / linear foot	\$2,975.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
SAC Services		First Offer - \$36.85	85 / linear foot	\$3,132.25		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Arroyos Concrete LLC		First Offer - \$36.85	85 / linear foot	\$3,132.25		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$37.74	85 / linear foot	\$3,207.90	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Nash Construction Co.		First Offer - \$38.00	85 / linear foot	\$3,230.00	Υ		
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$40.00	85 / linear foot	\$3,400.00	Υ		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$41.00	85 / linear foot	\$3,485.00	Υ		
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
C-P Integrated Services		First Offer - \$50.00	85 / linear foot	\$4,250.00	Υ		
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				

MS-0129 and MS-013001-62 Base Bid: 7/C Traffic Si	giidi E		a. m. t.			_
Supplier		Unit Price	(1)	Total Price	Attch.	Docs
Arroyos Concrete LLC		First Offer - \$9.90	20 / linear foot	\$198.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Wyatt Contracting, Inc.		First Offer - \$10.00	20 / linear foot	\$200.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$10.00	20 / linear foot	\$200.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Nash Construction Co.		First Offer - \$10.10	20 / linear foot	\$202.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$10.14	20 / linear foot	\$202.80		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$11.00	20 / linear foot	\$220.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$11.00	20 / linear foot	\$220.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$13.00	20 / linear foot	\$260.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Parathon Construction LLC		First Offer - \$18.00	20 / linear foot	\$360.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:		
Redlands Contracting		First Offer - \$19.50	20 / linear foot	\$390.00		Υ
Product Code: Agency Notes:	,		Supplier Product Cod Supplier Notes:	le:		

MS-0129 and MS-013001-63 Base Bid: P-4 Drilled Shaft for Pedestrian Pole								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Redlands Contracting	First Offer - \$1,500.00	1 / each	\$1,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wyatt Contracting, Inc.	First Offer - \$1,500.00	1 / each	\$1,500.00		Y			

Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$1,540.00	1 / each	\$1,540.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$1,565.00	1 / each	\$1,565.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:	 	Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$1,577.11	1 / each	\$1,577.11	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
SAC Services	First Offer - \$1,620.00	1 / each	\$1,620.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:	 	Supplier Notes:			
Rudy Construction Co.	First Offer - \$1,700.00	1 / each	\$1,700.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,700.00	1 / each	\$1,700.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:	 	Supplier Notes:			
C-P Integrated Services	First Offer - \$2,025.00	1 / each	\$2,025.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Parathon Construction LLC	First Offer - \$3,600.00	1 / each	\$3,600.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services		First Offer - \$8.50	480 / cubic yard	\$4,080.00		Υ
Product Code:			Supplier Product Cod	e:		
Agency Notes:			Supplier Notes:			
Arroyos Concrete LLC		First Offer - \$11.00	480 / cubic yard	\$5,280.00		Υ
		Supplier Product Cod	e:			
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$11.50	480 / cubic yard	\$5,520.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Parathon Construction LLC	Т	First Offer - \$12.00	480 / cubic yard	\$5,760.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	· ·		
Wyatt Contracting, Inc.		First Offer - \$14.15	480 / cubic yard	\$6,792.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$15.36	480 / cubic yard	\$7,372.80		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Redlands Contracting		First Offer - \$25.00	480 / cubic yard	\$12,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes: This it Grubbing paid by Lump price is \$12,000 LS. I hat the \$12,000 LS	em was supposed t p Sum per addendu	m. My Lur	np Sum

Nash Construction Co.	First Offer - \$25.00	480 / cubic yard	\$12,000.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$34.00	480 / cubic yard	\$16,320.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$35.00	480 / cubic yard	\$16,800.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

MS-0129 and MS-013002-02 Alternate 1: Mobilization	on				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wyatt Contracting, Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Parathon Construction LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Nash Construction Co.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Redlands Contracting	First Offer - \$9,000.00	1 / lump sum	\$9,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
SAC Services	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$10,251.03	1 / lump sum	\$10,251.03		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Arroyos Concrete LLC	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
C-P Integrated Services	First Offer - \$13,750.00	1 / lump sum	\$13,750.00		Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$19,000.00	1 / lump sum	\$19,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

MS-0129 and MS-0130–02-03 Alternate 1: Construction Traffic Control								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Redlands Contracting		First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y		
Product Code:			Supplier Product	Code:				
Agency Notes:			Supplier Notes:					
				1				

Rudy Construction Co.		First Offer - \$2,500.00	1 / lump sum	\$2,500.00	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Wyatt Contracting, Inc.		First Offer - \$2,500.00	1 / lump sum	\$2,500.00	Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Parathon Construction LLC		First Offer - \$2,500.00	1 / lump sum	\$2,500.00	Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$10,701.85	1 / lump sum	\$10,701.85	Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$12,000.00	1 / lump sum	\$12,000.00	Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Arroyos Concrete LLC		First Offer - \$21,348.00	1 / lump sum	\$21,348.00	Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Nash Construction Co.		First Offer - \$21,719.00	1 / lump sum	\$21,719.00	Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SAC Services		First Offer - \$22,440.00	1 / lump sum	\$22,440.00	Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
C-P Integrated Services	T	First Offer - \$28,000.00	1 / lump sum	\$28,000.00	Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

MS-0129 and MS-013002-04 Alternate 1: Constructi	on S	taking Level I					
Supplier		Unit Price	Qty/Unit	Total Pri	e .	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$1,000.00	1 / lump sum	\$1,000.0	0		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Redlands Contracting		First Offer - \$1,500.00	1 / lump sum	\$1,500.0	0		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Parathon Construction LLC		First Offer - \$1,500.00	1 / lump sum	\$1,500.0	0		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Nash Construction Co.		First Offer - \$2,000.00	1 / lump sum	\$2,000.0	0		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Wyatt Contracting, Inc.		First Offer - \$2,500.00	1 / lump sum	\$2,500.0	0		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$2,754.32	1 / lump sum	\$2,754.3	2		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.		First Offer - \$3,000.00	1 / lump sum	\$3,000.0	0		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
C-P Integrated Services		First Offer - \$5,150.00	1 / lump sum	\$5,150.0	0		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:			
Arroyos Concrete LLC		First Offer - \$6,000.00	1 / lump sum	\$6,000.0	0		Υ
Product Code:			Supplier Product (Code:			

Agency Notes:		Supplier Notes:		
SAC Services	First Offer - \$7,500.00	1 / lump sum	\$7,500.00	Y
Product Code:		Supplier Product C	ode:	
Agency Notes:		Supplier Notes:		

MS-0129 and MS-013002-05 Alternate 1: Temporary	Silt	Fence				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Wyatt Contracting, Inc.		First Offer - \$1.50	300 / linear feet	\$450.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
Parathon Construction LLC		First Offer - \$1.75	300 / linear feet	\$525.00		Y
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			
SAC Services		First Offer - \$2.00	300 / linear feet	\$600.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		
Arroyos Concrete LLC	Т	First Offer - \$2.00	300 / linear feet	\$600.00		Υ
Product Code: Agency Notes:		1	Supplier Product Cod Supplier Notes:	de:		
T.J. Campbell Construction Co.		First Offer - \$2.40	300 / linear feet	\$720.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		
Redlands Contracting	П	First Offer - \$4.00	300 / linear feet	\$1,200.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		
Rudy Construction Co.		First Offer - \$5.00	300 / linear feet	\$1,500.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		
C-P Integrated Services		First Offer - \$5.00	300 / linear feet	\$1,500.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		
Nash Construction Co.		First Offer - \$5.00	300 / linear feet	\$1,500.00		Υ
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$12.72	300 / linear feet	\$3,816.00		Y
Product Code: Agency Notes:			Supplier Product Coo Supplier Notes:	de:		

MS-0129 and MS-013002-06 Alternate 1: Unclassified E	ĒΧ	cavation				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Parathon Construction LLC		First Offer - \$0.00	480 / cubic yard	\$0.00		Υ
			Supplier Product Coc Supplier Notes:	le:		
Nash Construction Co.		First Offer - \$0.00	480 / cubic yard	\$0.00		Υ
Agency Notes:			Supplier Product Code: Supplier Notes: Zero price due to duplicate line item. See Unclassified Excavation Line item above mobilization.			
Rudy Construction Co.		First Offer - \$1.00	480 / cubic yard	\$480.00		Υ
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:		
SAC Services		First Offer - \$8.50	480 / cubic yard	\$4,080.00		Υ
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:		

Arroyos Concrete LLC		First Offer - \$11.00	480 / cubic yard	\$5,280.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$11.50	480 / cubic yard	\$5,520.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Wyatt Contracting, Inc.		First Offer - \$14.15	480 / cubic yard	\$6,792.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Redlands Contracting		First Offer - \$20.00	480 / cubic yard	\$9,600.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$30.72	480 / cubic yard	\$14,745.60		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$33.00	480 / cubic yard	\$15,840.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

MS-0129 and MS-013002-07 Alternate 1: Solid Slab Soc	lding				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SAC Services	First Offer - \$4.10	1342 / square yard	\$5,502.20		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$4.75	1342 / square yard	\$6,374.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$4.75	1342 / square yard	\$6,374.50		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Parathon Construction LLC	First Offer - \$4.95	1342 / square yard	\$6,642.90		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$5.00	1342 / square yard	\$6,710.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Redlands Contracting	First Offer - \$5.00	1342 / square yard	\$6,710.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$5.27	1342 / square yard	\$7,072.34		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$5.50	1342 / square yard	\$7,381.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Nash Construction Co.	First Offer - \$7.00	1342 / square yard	\$9,394.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$8.75	1342 / square yard	\$11,742.50		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

MS-0129 and MS-013002-08 Alternate 1: Aggregate Base Type A									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Nash Construction Co.	First Offer - \$0.00	180 / cubic yard	\$0.00		Υ				

0130 - Sidewalk		its Trusts						
Product Code: Agency Notes:	Agency Notes:			Supplier Product Code: Supplier Notes: Per Addendum No. 1, the Aggregate base was removed from the Alternate. Zero Price Entere				
Redlands Contracting		First Offer - \$1.00	180 / cubic yard	\$180.00		Υ		
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes: Per item No. 9 in the a removed from the bid	ddendum this item is s	upposed	to be		
Parathon Construction LLC Product Code:		First Offer - \$49.00	180 / cubic yard Supplier Product Coc	\$8,820.00		Υ		
Agency Notes:			Supplier Notes:	.c.				
Arroyos Concrete LLC		First Offer - \$60.00	180 / cubic yard	\$10,800.00		Υ		
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:	·			
Rudy Construction Co.		First Offer - \$90.00	180 / cubic yard	\$16,200.00		Y		
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:				
SAC Services		First Offer - \$90.00	180 / cubic yard	\$16,200.00		Υ		
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:				
Ellsworth Construction OKC dba A-Tech Paving Product Code: Agency Notes:		First Offer - \$97.73	180 / cubic yard Supplier Product Coc Supplier Notes:	\$17,591.40 de:		Y		
T.J. Campbell Construction Co.		First Offer - \$110.00	180 / cubic yard	\$19,800.00		Υ		
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:				
C-P Integrated Services		First Offer - \$110.00	180 / cubic yard	\$19,800.00		Υ		
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:				
Wyatt Contracting, Inc.		First Offer - \$200.00	180 / cubic yard	\$36,000.00		Y		
Product Code: Agency Notes:			Supplier Product Coc Supplier Notes:	le:				

MS-0129 and MS-013002-09 Alternate 1: Conc.Curb(6 Inch Barrier-Integral)									
	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
	First Offer - \$9.00	631 / linear feet	\$5,679.00		Υ				
Product Code:			de:						
		Supplier Notes:							
П	First Offer - \$10.00	631 / linear feet	\$6,310.00		Υ				
		Supplier Product Cod	de:						
		Supplier Notes:							
	First Offer - \$12.00	631 / linear feet	\$7,572.00		Υ				
		Supplier Product Cod	de:						
		Supplier Notes:							
		First Offer - \$10.00 First Offer - \$12.00	Unit Price Qty/Unit First Offer - \$9.00 631 / linear feet Supplier Product Coc Supplier Notes: First Offer - \$10.00 631 / linear feet Supplier Product Coc Supplier Notes: First Offer - \$12.00 631 / linear feet Supplier Notes: Supplier Product Coc Supplier Product Coc Supplier Notes:	Unit Price Qty/Unit Total Price First Offer - \$9.00 631 / linear feet \$5,679.00 Supplier Product Code: Supplier Notes: First Offer - \$10.00 631 / linear feet \$6,310.00 Supplier Product Code: Supplier Notes: First Offer - \$12.00 631 / linear feet \$7,572.00 Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Unit Price Qty/Unit Total Price Attch. First Offer - \$9.00 631 / linear feet \$5,679.00 Supplier Product Code: Supplier Notes: First Offer - \$10.00 631 / linear feet \$6,310.00 Supplier Product Code: Supplier Notes: First Offer - \$12.00 631 / linear feet \$7,572.00 Supplier Product Code: Supplier Notes:				

First Offer - \$13.00	631 / linear feet	\$8,203.00	Y		
	Supplier Product Code:				
	Supplier Notes:				
First Offer - \$14.01	631 / linear feet	\$8,840.31	Y		
	Supplier Product Cod	de:			
	Supplier Notes:				
First Offer - \$15.00	631 / linear feet	\$9,465.00	Y		
	Supplier Product Cod	de:			
	Supplier Notes:				
First Offer - \$15.00	631 / linear feet	\$9,465.00	Y		
	Supplier Product Cod	de:			
	Supplier Notes:				
First Offer - \$20.00	631 / linear feet	\$12,620.00	Y		
	Supplier Product Cod	de:			
	Supplier Notes:				
First Offer - \$25.00	631 / linear feet	\$15,775.00	Y		
	Supplier Product Cod	de:			
	Supplier Notes:				
First Offer - \$62.00	631 / linear feet	\$39,122.00	Y		
	Supplier Product Cod	de:			
	Supplier Notes:				
	First Offer - \$14.01 First Offer - \$15.00 First Offer - \$15.00 First Offer - \$20.00 First Offer - \$20.00	Supplier Product Coo Supplier Notes: First Offer - \$14.01 631 / linear feet Supplier Product Coo Supplier Notes: First Offer - \$15.00 631 / linear feet Supplier Product Coo Supplier Notes: First Offer - \$15.00 631 / linear feet Supplier Product Coo Supplier Notes: First Offer - \$20.00 631 / linear feet Supplier Product Coo Supplier Notes: First Offer - \$25.00 631 / linear feet Supplier Product Coo Supplier Notes: First Offer - \$62.00 631 / linear feet Supplier Product Coo Supplier Notes: First Offer - \$62.00 631 / linear feet Supplier Product Coo	Supplier Product Code: Supplier Notes: First Offer - \$14.01 631 / linear feet \$8,840.31 Supplier Product Code: Supplier Notes: First Offer - \$15.00 631 / linear feet \$9,465.00 Supplier Product Code: Supplier Notes: First Offer - \$15.00 631 / linear feet \$9,465.00 Supplier Product Code: Supplier Notes: First Offer - \$20.00 631 / linear feet \$12,620.00 Supplier Product Code: Supplier Notes: First Offer - \$25.00 631 / linear feet \$15,775.00 Supplier Product Code: Supplier Notes: First Offer - \$62.00 631 / linear feet \$39,122.00 Supplier Product Code: Supplier Notes: First Offer - \$62.00 631 / linear feet \$39,122.00 Supplier Product Code: S		

Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
Nash Construction Co.	First Offer - \$52.00		\$121,524.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		
Ellsworth Construction OKC dba A-Tech Paving	First Offer - \$54.80	2337 / square yard	\$128,067.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Arroyos Concrete LLC	First Offer - \$55.00	2337 / square yard	\$128,535.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C-P Integrated Services	First Offer - \$57.50	2337 / square yard	\$134,377.50		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Parathon Construction LLC	First Offer - \$64.00	2337 / square yard	\$149,568.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SAC Services	First Offer - \$65.75	2337 / square yard	\$153,657.75		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Wyatt Contracting, Inc.	First Offer - \$67.00	2337 / square yard	\$156,579.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Redlands Contracting	First Offer - \$72.00	2337 / square yard	\$168,264.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$80.00	2337 / square yard	\$186,960.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$110.00	2337 / square yard	\$257,070.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Redlands Contracting		First Offer - \$35.00	72 / linear feet	\$2,520.00		Y
			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$40.00	72 / linear feet	\$2,880.00		Υ
Product Code: Agency Notes:	·		Supplier Product Cod Supplier Notes:	e:		
Wyatt Contracting, Inc.		First Offer - \$40.00	72 / linear feet	\$2,880.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Parathon Construction LLC		First Offer - \$41.50	72 / linear feet	\$2,988.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
SAC Services		First Offer - \$49.50	72 / linear feet	\$3,564.00	Υ	Υ
Arroyos Concrete LLC		First Offer - \$49.94	Bid Bond could not be 72 / linear feet	\$3,595.68		Y
Product Code:		First Offer - \$49.94	Supplier Product Cod			
Agency Notes:			Supplier Notes:	C.		
Nash Construction Co.		First Offer - \$51.00	72 / linear feet	\$3,672.00		Υ
Product Code: Agency Notes:	-		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba A-Tech Paving		First Offer - \$56.33	72 / linear feet	\$4,055.76	Y	Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes: Bid bo under bid bond link.		e, could no	t uploa
T.J. Campbell Construction Co.		First Offer - \$60.00	72 / linear feet	\$4,320.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
C-P Integrated Services		First Offer - \$65.50	72 / linear feet	\$4,716.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		

Supplier Totals

f Arroyos Cor	ncrete LLC	\$1,240,819.27 (74/74 items)
Bid Contact	Emilio Arroyo earroyo@arroyosconcrete.com Ph 405-887-4526	Address 1233 SW 41st Oklahoma city , OK 73109
Qualifications	OKC PRE-QUALIFIED CONTRACTORS	
Bid Notes	Bond was uploaded to clearing and grubbing	
Agency Notes		Supplier Notes: Head Bond was uploaded to clearing and grubbing
f Nash Const	ruction Co.	\$1,252,520.50 (74/74 items)
Bid Contact	Bobbie C Woodrow nashkrcc@aol.com Ph 405-672-2792 Fax 405-672-1022	Address 700 S. Irving Oklahoma City, OK 73129
Qualifications	OKC PRE-QUALIFIED CONTRACTORS	

Did Notes	Bid Bond is attached to the Mobilization line it	rous for the base hid	
Bid Notes			
Agency Notes:		Supplier Notes: Bid Bond is attached to the Mobilization line item for the base bid.	Head Attch:
f Ellsworth Co	onstruction OKC dba A-Tech Paving	\$1,314,683.39 (74/74 iter	ns)
Bid Contact	Tim Lunday okcbids@ellsworthinc.com Ph 405-418-4741	Address 500 N Vickie DR Oklahoma City, OK 73117	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid bond uploaded under last line item, could	not upload under bid bond link.	
Agency Notes:		Supplier Notes: Bid bond uploaded under last line item, could not upload under bid bond link.	Head Attch 』
f Parathon Co	onstruction LLC	\$1,354,497.50 (74/74 items)	
Bid Contact	Jimmy Smith parathonconstruction@gmail.com Ph 405-605-6006	Address EDMOND, OK 73083	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes: Hea	d Attch:
f SAC Services	S	\$1,442,098.00 (74/74 items)	
Bid Contact	Yime Favela	Address 3600 S Ross Ave	
	arturo@sacservicesinc.com Ph 405-682-4849 Fax 405-686-0882	Oklahoma City, OK 73119	
Qualifications	MBE OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes: H	ead Attch
f Redlands Co	ontracting	\$1,548,664.95 (74/74 items)	
	Chris Hendrickson chris.redlands@gmail.com Ph 405-603-6565 Fax 405-603-6567 OKC PRE-QUALIFIED CONTRACTORS	Address 5601 Northwest 72nd Street Suite 308 Warr Acres, OK 73132	
Agency Notes:		Supplier Notes:	lead
Agency Notes.			ttch:
f Wyatt Contr	acting, Inc.	\$1,550,740.25 (74/74 items)	
Bid Contact	Todd Moran todd@wyattcontracting.net Ph 405-334-2827	Address P.O. Box 917 Weatherford, OK 73096	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes: He	ad Attch:
f C-P Integrat	ed Services	\$1,597,285.00 (74/74 items)	
Bid Contact	Durinda Fisher Irollins@cpiokc.com	Address 3007 NW 63rd Street, Ste 205 Oklahoma City, OK 73116	

Ph 405-732-0532 Fax 405-242-6499 Qualifications **OKC PRE-QUALIFIED CONTRACTORS Bid Notes** Bid Bond attached on first line item Agency Notes: **Supplier Notes:** Head Bid Bond attached on first line item Attch: f Rudy Construction Co. \$1,680,660.00 (74/74 items) **Bid Contact Doug Walker** Address 3101 NE 63rd Street kratliff@rudycc.com Oklahoma City, OK 73121 Ph 405-478-9900 Fax 405-478-9901 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Head Attch: Supplier Notes: Agency Notes:** f T.J. Campbell Construction Co. \$2,171,401.95 (74/74 items) **Bid Contact Donnie Dorn** Address PO Box 3788 TJCESTIMATING@TJCAMPBELL.COM **Edmond, OK 73083** Ph 405-672-6768 Fax 405-513-6786 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Agency Notes: Supplier Notes: Head Attch:** Ū

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid UPTL-0001 Ended At Feb 12, 2025 10:00:00 AM CST CONSTRUCTION/CITY - Traffic and Lighting Improvements

Company:		TLS Group, Inc.					
Base Bid		\$6,330,145.00					
TOTAL BID:		\$6,330,145.00					
<u>Tresha W</u> City Clerk	illiams		<u>Chad Harr</u> Purchasing		— Au	<u>Lori Rice</u> ditor	
Poten	tial Bid Defects	Noted:					
#1	Anti-collusion	n affidavit not pr	operly notariz	ed			
#2	Bid Bond mis	•					
#3	Bid Bond inco	orrect awarding	agency				
#4	Bid Bond insu	ufficient amount					

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Business relationship affidavit not properly notarized

Originating Department shall:

#5

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #UPTL-0001 - Traffic and Lighting Improvements

Start Date Jan 15, 2025 7:49:28 AM CST Awarded Date Not Yet Awarded

UPTL-000101-01 Base Bid: Vehicle Actuated Traffic Signal Control Assembly								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$52,000.00	2 / each	\$104,000.00	Υ	Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-02 Base Bid: Controller Only Commander (newest)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$11,000.00	1 / each	\$11,000.00		Υ			
Product Code:	Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:						

UPTL-000101-03 Base Bid: Modem Only					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$5,500.00	1 / each	\$5,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPTL-000101-04 Base Bid: Controller Database Conversion							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$2,200.00	1 / each	\$2,200.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					

UPTL-000101-05 Base Bid: TSP Firmware Upgrade For 980 ATC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,900.00	1 / each	\$3,900.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-06 Base Bid: Antenna AP-CC-Q-522-WH								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$610.00	1 / each	\$610.00		Y			
Product Code:	Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:						

UPTL-000101-07 Base Bid: Switch For Existing Traffic Control Cabinet								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$2,200.00	4 / each	\$8,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-08 Base Bid: Video Detection System								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$60,500.00	1 / lump sum	\$60,500.00		Y			

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

UPTL-0001–01-09 Base Bid: Video Detection Camera								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$10,250.00	1 / each	\$10,250.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-10 Base Bid: Video Cable @ 1000-Feet								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$9,500.00	1 / each	\$9,500.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-11 Base Bid: Radar Detection System (Presence Sensors)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$11,250.00	10 / each	\$112,500.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-12 Base Bid: Radar Detection System (Advance Sensors)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$12,075.00	10 / each	\$120,750.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-13 Base Bid: Radar Cabinet Interface (Click 656 Or Newest Model)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$13,900.00	4 / each	\$55,600.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-14 Base Bid: Radar Detector Cable								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$6.00	6000 / linear foot	\$36,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

UPTL-000101-15 Base Bid: CMS Annual Maintenance									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$3,400.00	1 / each	\$3,400.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPTL-000101-16 Base Bid: CMS Software Install and Training								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$11,500.00	1 / lump sum	\$11,500.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-17 Base Bid: Multimode Pha	se Selector Model 764		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$5,500.00	1 / each	\$5,500.00		Υ
Product Code:	Supplier Product Code	e:			
Agency Notes:		Supplier Notes:			

UPTL-000101-18 Base Bid: Opticom Preemption Programming 980								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$2,650.00	1 / each	\$2,650.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-19 Base Bid: Auxiliary Panel Model 768								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$2,400.00	1 / each	\$2,400.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-0001–01-20 Base Bid: 3100 GPS Radio Unit w/Bracket								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$7,560.00	1 / each	\$7,560.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-21 Base Bid: GPS Cable					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$7.00	100 / linear foot	\$700.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPTL-000101-22 Base Bid: E.P.S. Optical Detector								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$2,100.00	8 / each	\$16,800.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

UPTL-000101-23 Base Bid: E.P.S. 2 Channel Phase Selector								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$4,625.00	4 / each	\$18,500.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-24 Base Bid: Optical Detector Cable								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$5.75	1000 / linear foot	\$5,750.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-0001–01-25 Base Bid: 1-Inch PVC Conduit (Bored)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$32.00	100 / linear foot	\$3,200.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-000101-26 Base Bid: 1-Inch PVC Conduit (Trenched)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-27 Base Bid: 2-inch PVC Schedule 40 Plastic Conduit Bored								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-28 Base Bid: 2-inch PVC Schedule 40 Plastic Conduit Trenched								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$25.50	100 / linear foot	\$2,550.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-29 Base Bid: 2-Inch PVC Conduit (Bored)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-30 Base Bid: 2-inch Traffic Signal Conduit (Trenched PVC)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$31.00	1000 / linear foot	\$31,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-31 Base Bid: 2-inch Traffic Signal Conduit (Bored HDPE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$52.50	300 / linear foot	\$15,750.00		Υ		
Product Code:	Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:					

UPTL-000101-32 Base Bid: 3-inch Traffic Signal Conduit (Trenched PVC)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ		
Product Code:	·	Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-33 Base Bid: 3-inch Traffic Signal Conduit (Bored HDPE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$57.50	700 / linear foot	\$40,250.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-34 Base Bid: 4-inch Traffic Signal Conduit (Trenched PVC)							
Supplier	Unit Price Qty/Unit Total Price Attcl			Attch.	Docs		
TLS Group, Inc.	First Offer - \$52.00	100 / linear foot	\$5,200.00		Υ		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-000101-35 Base Bid: 4-inch Traffic Signal Conduit (Bored HDPE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$65.00	100 / linear foot	\$6,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-36 Base Bid: .75-inch Galvanized Steel Electrical Conduit Exposed							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$29.00	100 / linear foot	\$2,900.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-37 Base Bid: 1-inch Galvanized Steel Electrical Conduit Exposed							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$34.00	100 / linear foot	\$3,400.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-38 Base Bid: 1.25-inch Galvanized Steel Electrical Conduit Exposed							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-39 Base Bid: 1.5-inch Galvanized Steel Electrical Conduit Exposed							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$52.00	100 / linear foot	\$5,200.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-40 Base Bid: 2-inch Galvanized Steel Electrical Conduit Exposed							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$62.00	100 / linear foot	\$6,200.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-41 Base Bid: 3-inch Galvanized Steel Electrical Conduit Exposed							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$105.00	100 / linear foot	\$10,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-42 Base Bid: Junction Box (6-inch by 6-inch by 4-inch)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$1,705.00	1 / each	\$1,705.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

Ţ	JPTL-000101-43 Base Bid: Junction Box (8	-inch by 8-inch by 6-inch)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$1,775.00	1 / each	\$1,775.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

UPTL-000101-44 Base Bid: Junction Box (12-inch by 12-inch by 8-inch)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$3,155.00	1 / each	\$3,155.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPTL-000101-45 Base Bid: Hand Hole Cover (LIGHT POLE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$160.00	50 / each	\$8,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-46 Base Bid: Hand Hole Cover (SIGNAL POLE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$245.00	50 / each	\$12,250.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-0001–01-47 Base Bid: (PL) Liquid Tight Flexible Conduit									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$60.00	25 / linear foot	\$1,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-000101-48 Base Bid: Removal of Exposed Conduit									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-000101-49 Base Bid: Two Conductor Shielded Loop Detector Lead-in Cable									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$4.20	1500 / linear foot	\$6,300.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-000101-50 Base Bid: Loop Wire 14 AWG (Type XHHW)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$9.40	3500 / linear foot	\$32,900.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-000101-51 Base Bid: Sawcut Pavement (Loops)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$11.00	1000 / linear foot	\$11,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-52 Base Bid: (3) Conductor Traffic Signal Electrical Cable								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$4.90	100 / linear foot	\$490.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-53 Base Bid: (5) Conductor Traffic Signal Electrical Cable							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$5.00	2000 / linear foot	\$10,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-0001–01-54 Base Bid: 5/C Traffic Signal Cable Overhead							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$7.00	1000 / linear foot	\$7,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-55 Base Bid: (7) Conductor Traffic Signal Electrical Cable							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$7.00	2000 / linear foot	\$14,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-56 Base Bid: 7/C Traffic Signal Cable Overhead							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$8.00	1000 / linear foot	\$8,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-57 Base Bid: (9) Conductor Traffic Signal Electrical Cable							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$8.00	2000 / linear foot	\$16,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-58 Base Bid: (12) Conductor Traffic Signal Electrical Cable							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$9.00	2000 / linear foot	\$18,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

UPTL-000101-59 Base Bid: (15) Conductor Traffic Signal Electrical Cable							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$9.75	2000 / linear foot	\$19,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-60 Base Bid: (18) Conductor Traffic Signal Electrical Cable							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$12.00	500 / linear foot	\$6,000.00		Υ		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-000101-61 Base Bid: (21) Conductor Traffic Signal Electrical Cable							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$14.00	500 / linear foot	\$7,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-0001–01-62 Base Bid: (1 Conductor) (AWG No. 6) Electrical Conductor							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$8.00	500 / linear foot	\$4,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-63 Base Bid: (1 Conductor) (AWG No. 10) Electrical Conductor							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$4.50	3000 / linear foot	\$13,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-64 Base Bid: 1/C No. 4 THHN Electrical Conductor									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$11.00	1 / linear foot	\$11.00		Υ				
Product Code:	Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:							

UPTL-000101-65 Base Bid: 2/C No. 12 UF Electrical Conductor								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$8.00	1 / linear foot	\$8.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

UPTL-000101-66 Base Bid: 3/C #4 Aluminum Conductors URD								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Y			
Product Code:		Supplier Product Code:						
		Supplier Notes:						

UPTL-000101-67 Base Bid: One (1) Section One Way Traffic Signal Head								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$850.00	10 / each	\$8,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-68 Base Bid: Three (3) Section One Way Traffic Signal Head								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,375.00	20 / each	\$27,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-00	0101-69 Base Bid: Four (4) Section	n One Way Traffic Signal Hea	ad		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$1,650.00	10 / each	\$16,500.00		Υ
Product Code:	Supplier Product Code	e:			
Agency Notes:		Supplier Notes:			

UPTL-000101-70 Base Bid: Five (5) Section One Way Traffic Signal Head									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$2,400.00	10 / each	\$24,000.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPTL-000101-71 Base Bid: Blankout Sign					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$7,750.00	1 / each	\$7,750.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

UPTL-000101-72 Base Bid: SIGNAL MOUNTING BRACKET - MAST ARM									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$1,970.00	1 / each	\$1,970.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPTL-000101-73 Base Bid: SIGNAL MOUNTING BRACKET - SIDE POLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$1,320.00	1 / each	\$1,320.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPTL-000101-74 Base Bid: SIGNAL MOUNTING BRACKET - POST TOP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$575.00	1 / each	\$575.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-000101-75 Base Bid: Pedestrian Signal Head								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$960.00	32 / each	\$30,720.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-76 Base Bid: Pedestrian Push Button Station and Sign								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,335.00	32 / each	\$42,720.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-77 Base Bid: Pedestrian Push Button Sign								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$160.00	8 / each	\$1,280.00		Y			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

UPTL-000101-78 Base Bid: Pedestrian Push Button Central Control Unit							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$6,700.00	5 / each	\$33,500.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-79 Base Bid: Pedestrian Push Button Programming Device							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,400.00	1 / each	\$1,400.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-80 Base Bid: Pedestrian Push Button Bracket								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$350.00	1 / each	\$350.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-81 Base Bid: Pedestrian Pole with 5-foot Mounting Height								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,050.00	1 / each	\$1,050.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-82 Base Bid: Pedestal Pole with 8-Foot Mounting Height								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,225.00	1 / each	\$1,225.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-83 Base Bid: Pedestal Pole with 10-Foot Mounting Height								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,450.00	32 / each	\$46,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					

UPTL-000101-84 Base Bid: Pedestal Pole with 12-Foot Mounting Height								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,550.00	1 / each	\$1,550.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-85 Base Bid: Pedestal Pole with 15-Foot Mounting Height							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,750.00	1 / each	\$1,750.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

UPTL-0001–01-86 Base Bid: Alpha Technologies Stand Alone UPS System						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$12,500.00	1 / each	\$12,500.00		Y	

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

UPTL-000101-87 Base Bid: AlphaCell 240XTV Battery - 12V - 112AH -Top M6								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$850.00	1 / each	\$850.00		Y			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

UPTL-000101-88 Base Bid: 20-Foot Pole (single 20 - 40 Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$19,000.00	8 / each	\$152,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-0001–01-89 Base Bid: 20-Foot Pole (dual 20 - 40 Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$23,000.00	1 / each	\$23,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-90 Base Bid: 20-Foot Pole (single 45+ Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$28,500.00	8 / each	\$228,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-91 Base Bid: 20-Foot Pole (dual 45+ Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$36,500.00	1 / each	\$36,500.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-92 Base Bid: 32-Foot Pole and Luminaire Arm (single 20 - 40 Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$22,500.00	8 / each	\$180,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-93 Base Bid: 32-Foot Pole and Luminaire Arm (dual 20 - 40 Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$27,000.00	1 / each	\$27,000.00		Υ			
Product Code:	Supplier Product Code:		e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-94 Base Bid: 32-Foot Pole and Luminaire Arm (single 45+ Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$35,000.00	8 / each	\$280,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-95 Base Bid: 32-Foot Pole an	d Luminaire Arm (dual 45+ i	oot Arm)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$42,000.00	1 / each	\$42,000.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

UPTL-000101-96 Base Bid: 20-Foot Pole Coated as noted (single 20 - 40 Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$21,750.00	1 / each	\$21,750.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-97 Base Bid: 20-Foot Pole Coated as noted (dual 20 - 40 Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$26,000.00	1 / each	\$26,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-98 Base Bid: 20-Foot Pole Coated as noted (single 45+ Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$32,000.00	1 / each	\$32,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-99 Base Bid: 20-Foot Pole Coated as noted (dual 45+ Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$42,000.00	1 / each	\$42,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-100 Base Bid: 32-Foot Pole and Luminaire Arm Coated as noted (single 20 - 40 Foot Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$24,500.00	1 / each	\$24,500.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-101 Base Bid: 32-Foot Pole and Luminaire Arm Coated as noted (dual 20 - 40 Foot Arm)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$28,500.00	1 / each	\$28,500.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-102 Base Bid: 32-Foot Pole and Luminaire Arm Coated as noted (single 45+ Foot Arm)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$37,500.00	1 / each	\$37,500.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-103 Base Bid: 32-Foot Pole and Luminaire Arm Coated as noted (dual 45+ Foot Arm)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$46,250.00	1 / each	\$46,250.00		Y		
		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPTL-0001–01-104 Base Bid: Structural Concrete							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$2,000.00	62 / cubic yard	\$124,000.00		Y		
Product Code:			Supplier Product Code:				
Agency Notes:		Supplier Notes:					

UPTL-000101-105 Base Bid: Reinforcing Steel								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3.50	8600 / pound	\$30,100.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

UPTL-000101-106 Base Bid: Project 180 Signal Anchor Bolt Cage Assembly								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$750.00	1 / each	\$750.00		Υ			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

UPTL-000101-107 Base Bid: Anchor Bolt Set 1.5-inch								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,900.00	1 / each	\$1,900.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-0001–01-108 Base Bid: Anchor Bolt Set 1.75-inch							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$2,515.00	1 / each	\$2,515.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-109 Base Bid: Anchor Bolt Set 2-inch								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,050.00	1 / each	\$3,050.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

UPTL-000101-110 Base Bid: Engineered ODOT Footing/Base Design For Mast Arms Greater than 55 Feet							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$5,250.00	1 / each	\$5,250.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-111 Base Bid: 20-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$9,050.00	8 / each	\$72,400.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-112 Base Bid: 25-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$9,900.00	8 / each	\$79,200.00		Y		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-000101-113 Base Bid: 30-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$11,500.00	8 / each	\$92,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-114 Base Bid: 35-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$12,750.00	8 / each	\$102,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-115 Base Bid: 40-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$14,000.00	8 / each	\$112,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-116 Base Bid: 45-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$18,750.00	8 / each	\$150,000.00		Y		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

UPTL-000101-117 Base Bid: 50-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$23,000.00	8 / each	\$184,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-118 Base Bid: 55-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$23,250.00	8 / each	\$186,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				

UPTL-0001–01-119 Base Bid: 60-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$28,750.00	8 / each	\$230,000.00		Υ		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

UPTL-000101-120 Base Bid: 65-Foot Mast Arm							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$29,500.00	8 / each	\$236,000.00		Υ		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

UPTL-000101-121 Base Bid: 20-Foot Mast	Arm Coated as noted		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$10,000.00	2 / each	\$20,000.00		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

UPTL-000101-122 Base Bid: 25-Foot Mast Arm Coated as noted								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$11,250.00	2 / each	\$22,500.00		Υ			
		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-123 Base Bid: 30-Foot Mast Arm Coated as noted								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$13,500.00	2 / each	\$27,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-124 Base Bid: 35-Foot Mast Arm Coated as noted								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$15,000.00	2 / each	\$30,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-0001–01-125 Base Bid: 40-Foot Mast Arm Coated as noted								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$16,250.00	2 / each	\$32,500.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-126 Base Bid: 45-Foot Mast Arm Coated as noted								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$23,000.00	2 / each	\$46,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-127 Base Bid: 50-Foot Mast Arm Coated as noted								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$27,000.00	2 / each	\$54,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-0001–01-128 Base Bid: 55-Foot Mast Arm Coated as noted								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$30,500.00	2 / each	\$61,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-129 Base Bid: 60-Foot Mast Arm Coated as noted								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$33,500.00	2 / each	\$67,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-0001–01-130 Base Bid: 65-Foot Mast Arm Coated as noted								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$35,500.00	2 / each	\$71,000.00		Y			
Product Code:	Product Code:		e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-131 Base Bid: 20 UPRIGHT - 15 ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$15,150.00	1 / each	\$15,150.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-132 Base Bid: 20 UPRIGHT - 20 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$15,150.00	1 / each	\$15,150.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-0001-01-133 Base Bid: 20 UPRIGHT - 25 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$15,150.00	1 / each	\$15,150.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-134 Base Bid: 20 UPRIGHT - 30 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$15,150.00	1 / each	\$15,150.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-135 Base Bid: 20 UPRIGHT - 35 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$15,150.00	1 / each	\$15,150.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				

UPTL-000101-136 Base Bid: 20 UPRIGHT - 40 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$15,150.00	1 / each	\$15,150.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-137 Base Bid: 20 UPRIGHT - 45 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$20,000.00	1 / each	\$20,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-138 Base Bid: 20 UPRIGHT - 50 ARM (MATERIAL ONLY)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$20,000.00	1 / each	\$20,000.00		Y	

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-000101-139 Base Bid: 30 UPRIGHT - 15 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$19,000.00	1 / each	\$19,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-140 Base Bid: 30 UPRIGHT - 20 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$19,000.00	1 / each	\$19,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-141 Base Bid: 30 UPRIGHT - 25 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$19,000.00	1 / each	\$19,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-142 Base Bid: 30 UPRIGHT - 30 ARM (MATERIAL ONLY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$19,000.00	1 / each	\$19,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-143 Base Bid: 30 UPRIGHT - 35 ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$19,000.00	1 / each	\$19,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-144 Base Bid: 30 UPRIGHT - 40 ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$19,000.00	1 / each	\$19,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-145 Base Bid: 30 UPRIGHT - 45 ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$23,850.00	1 / each	\$23,850.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-146 Base Bid: 30 UPRIGHT - 50 ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$23,850.00	1 / each	\$23,850.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-147 Base Bid: 30 UPRIGHT - !	55 ARM (MATERIAL ONLY)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$23,850.00	1 / each	\$23,850.00		Υ
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

UPTL-000101-148 Base Bid: 15 MAST ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$8,200.00	1 / each	\$8,200.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-149 Base Bid: 20 MAST ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$9,200.00	1 / each	\$9,200.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-150 Base Bid: 25 MAST ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$10,500.00	1 / each	\$10,500.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-151 Base Bid: 30 MAST ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$13,000.00	1 / each	\$13,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-152 Base Bid: 35 MAST ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$14,750.00	1 / each	\$14,750.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-153 Base Bid: 40 MAST ARM (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$16,250.00	1 / each	\$16,250.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-154 Base Bid: 45 MAST ARM (MATERIAL ONLY)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$19,200.00	1 / each	\$19,200.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-155 Base Bid: 50 MAST ARM (MATERIAL ONLY)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$19,850.00	1 / each	\$19,850.00		Y	
Product Code:	Product Code: S		Supplier Product Code:			
		Supplier Notes:				

UPTL-0001–01-156 Base Bid: 55 MAST ARM (MATERIAL ONLY)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$20,250.00	1 / each	\$20,250.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-157 Base Bid: INSTALL - 20 UPRIGHT - 15 ARM						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$4,250.00	1 / each	\$4,250.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				

UPTL-000101-158 Base Bid: INSTALL - 20 UPRIGHT - 20 ARM						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$4,250.00	1 / each	\$4,250.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-159 Base Bid: INSTALL -20 UPRIGHT - 25 ARM						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$4,250.00	1 / each	\$4,250.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-160 Base Bid: INSTALL -20 UPRIGHT - 30 ARM						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$4,250.00	1 / each	\$4,250.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-161 Base Bid: INSTALL -20 UPRIGHT - 35 ARM						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$4,250.00	1 / each	\$4,250.00		Υ	
Product Code:	Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:				

UPTL-0001-01-162 Base Bid: INSTALL -20 UPRIGHT - 40 ARM						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$4,250.00	1 / each	\$4,250.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				

UPTL-000101-163 Base Bid: INSTALL -20 UPRIGHT - 45 ARM						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$4,250.00	1 / each	\$4,250.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-164 Base Bid: INSTALL -20 UPRIGHT - 50 ARM					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$4,250.00	1 / each	\$4,250.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-000101-165 Base Bid: INSTALL -30 UPRIGHT - 15 ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$4,750.00	1 / each	\$4,750.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-166 Base Bid: INSTALL -30 UPRIGHT - 20 ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$4,750.00	1 / each	\$4,750.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-167 Base Bid: INSTALL -30 UPRIGHT - 25 ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$4,750.00	1 / each	\$4,750.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-168 Base Bid: INSTALL -30 UPRIGHT - 30 ARM									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$4,750.00	1 / each	\$4,750.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPTL-000101-169 Base Bid: INSTALL -30 UPRIGHT - 35 ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$4,750.00	1 / each	\$4,750.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-170 Base Bid: INSTALL -30 UPRIGHT - 40 ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$4,750.00	1 / each	\$4,750.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-171 Base Bid: INSTALL -30 UPRIGHT - 45 ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$5,000.00	1 / each	\$5,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-172 Base Bid: INSTALL -30 UPRIGHT - 50 ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-173 Base Bid: INSTALL -30 U	JPRIGHT - 55 ARM		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$5,000.00	1 / each	\$5,000.00		Υ
Product Code:	Supplier Product Code	e:			
Agency Notes:		Supplier Notes:			

UPTL-000101-174 Base Bid: INSTALL -15 MAST ARM									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPTL-000101-175 Base Bid: INSTALL -20 MAST ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-176 Base Bid: INSTALL -25 MAST ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-177 Base Bid: INSTALL -30 MAST ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-178 Base Bid: INSTALL -35 MAST ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-179 Base Bid: INSTALL -40 MAST ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-0001-01-180 Base Bid: INSTALL -45 MAST ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,750.00	1 / each	\$3,750.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-181 Base Bid: INSTALL -50 MAST ARM									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$3,750.00	1 / each	\$3,750.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPTL-000101-182 Base Bid: INSTALL -55 MAST ARM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,750.00	1 / each	\$3,750.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-183 Base Bid: MPZ PANEL (ELECTRICAL) (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$19,700.00	1 / each	\$19,700.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-184 Base Bid: MPZ CABINET (ELECTRICAL) (MATERIAL ONLY)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$14,000.00	1 / each	\$14,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-185 Base Bid: MPZ ELECTRICAL METER RACK (ELECTRICAL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$11,000.00	1 / each	\$11,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-186 Base Bid: INSTALL MPZ PANEL (ELECTRICAL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$7,000.00	1 / each	\$7,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-187 Base Bid: INSTALL MPZ CABINET (ELECTRICAL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Υ			
Product Code:	duct Code:		e:					
Agency Notes:		Supplier Notes:						

UPTL-0001-01-188 Base Bid: T C B II - 20 AMP (ELECTRICAL)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$250.00	1 / each	\$250.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				

UPTL-000101-189 Base Bid: T C B II - 30 AMP (ELECTRICAL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$250.00	1 / each	\$250.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-190 Base Bid: GE TG4324R Disconnect 200 Amp 3 Pole 240V NEMA 3R							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$3,925.00	5 / each	\$19,625.00		Y		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-000101-191 Base Bid: GE 9T21S1250 Transformer							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$11,700.00	1 / each	\$11,700.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-0001–01-192 Base Bid: GE THQL1130 Circuit Breaker 1 Pole 120V 30 Amp						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$250.00	1 / each	\$250.00		Υ	
Product Code:		Supplier Product Code	: :			
Agency Notes:		Supplier Notes:				

UPTL-0001–01-193 Base Bid: GE THQL1120 Circuit Breaker 1 Pole 120V 20 Amp							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$250.00	1 / each	\$250.00		Υ		
Product Code:			Supplier Product Code:				
Agency Notes:		Supplier Notes:					

UPTL-000101-194 Base Bid: GE Electrical TED124060 Circuit Breaker 2 Pole 480V 60 Amp							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$900.00	1 / each	\$900.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-195 Base Bid: GE Electrical CR 463LBOACA10AO Lighting Contactor 12-Pole							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$2,675.00	1 / each	\$2,675.00		Y		
Product Code:	Product Code:		e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-196 Base Bid: GE 2POLE 30A CONTACTOR MODULES							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,535.00	1 / each	\$1,535.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				

UPTL-000101-197 Base Bid: Intermatic LC4521C Photo Cell						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$250.00	1 / each	\$250.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-198 Base Bid: TORK Time Clock							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$3,330.00	1 / each	\$3,330.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-199 Base Bid: LITTLE FUSE NO. WBPB1 BOOT & LEBAA FUSE HOLDER					

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$215.00	50 / each	\$10,750.00		Υ
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

UPTL-0001-01-200 Base Bid: LITTLE FUSE NO. KLK-R15 600V FUSE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$100.00	50 / each	\$5,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-201 Base Bid: ILLSCO NO. PED3-350SS-DB								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$210.00	10 / each	\$2,100.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-202 Base Bid: A60P6024LP 60-INCH x 60-INCH x 24-INCH NEMA 4 ENCLOSURE POWDER COAT GE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$16,705.00	5 / each	\$83,525.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-203 Base Bid: (15W47) FEMALE CORD BODY - 15 AMP 125 VOLT NEMA 5-15R 2P 3W CONNECTOR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$475.00	1 / each	\$475.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-0001–01-204 Base Bid: Drilled Shafts 42-inch Diameter								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,100.00	30 / linear foot	\$33,000.00		Υ			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						

UPTL-000101-205 Base Bid: Drilled Shafts 48-inch Diameter								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,250.00	30 / linear foot	\$37,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-0001–01-206 Base Bid: Drilled Shafts 54-inch Diameter							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,425.00	30 / linear foot	\$42,750.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-207 Base Bid: Removal of High Mast Tower								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$7,500.00	1 / each	\$7,500.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-208 Base Bid: Install of High Mast Tower								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$7,500.00	1 / each	\$7,500.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-209 Base Bid: 120-foot High Mast Pole (G.STL.)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$70,000.00	1 / each	\$70,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-210 Base Bid: 130-foot High Mast Pole (G.STL.)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$75,000.00	1 / each	\$75,000.00		Υ			
Product Code:	Supplier Product Code:		e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-211 Base Bid: 140-foot High Mast Pole (G.STL.)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$82,500.00	1 / each	\$82,500.00		Υ			
Product Code:	:		e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-212 Base Bid: 150-foot High Mast Pole (G.STL.)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$86,500.00	1 / each	\$86,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-213 Base Bid: High Mast Lowering Device Type 1							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$32,500.00	1 / each	\$32,500.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-214 Base Bid: Crane Rental (Up to 150-foot)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$675.00	1 / hour	\$675.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				

UPTL-0001–01-215 Base Bid: Materials- Cost Plus 20% Markup							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1.00	1 / each	\$1.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

UPTL-000101-216 Base Bid: Traffic Signal Backplate (3-Section) Reflective Border							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$390.00	8 / each	\$3,120.00		Y		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-000101-217 Base Bid: Traffic Signal Backplate (4-Section) Reflective Border							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$450.00	8 / each	\$3,600.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-218 Base Bid: Traffic Signal Backplate (5-Section) Reflective Border							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$675.00	8 / each	\$5,400.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-219 Base Bid: Relocate Traffic Signal Head							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$600.00	1 / each	\$600.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-220 Base Bid: 12-inch Red Ball LED Traffic Signal Module							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$210.00	8 / each	\$1,680.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-221 Base Bid: 12-inch Red Arrow LED Traffic Signal Module							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$210.00	8 / each	\$1,680.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-222 Base Bid: 12-inch Yellow Ball LED Traffic Signal Module							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$210.00	8 / each	\$1,680.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-223 Base Bid: 12-inch Yellow Arrow LED Traffic Signal Module							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$210.00	8 / each	\$1,680.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-224 Base Bid: 12-inch Green Ball LED Traffic Signal Module								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$210.00	8 / each	\$1,680.00		Υ			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

UPTL-000101-225 Base Bid: 12-inch Green	rrow LED Traffic Signal Module	}		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$210.00	8 / each	\$1,680.00		Υ
Product Code: Supplier Product Code:					
Agency Notes:		Supplier Notes:			

UPTL-000101-226 Base Bid: 12-inch LED Symbol module								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$350.00	1 / each	\$350.00		Υ			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

UPTL-000101-227 Base Bid: CMC GEL PAK NO DSR-2K								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$215.00	50 / each	\$10,750.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-228 Base Bid: Install Light Pole and Fixture (Provided)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$2,300.00	1 / each	\$2,300.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-229 Base Bid: LIGHT POLE FOOTING (EPOXY ANCHOR BOLTS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$2,850.00	4 / each	\$11,400.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-230 Base Bid: 30 foot LIGHT POLE BASE AND ANCHOR BOLTS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$4,750.00	1 / each	\$4,750.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-231 Base Bid: 16 foot LIGHT POLE BASE AND ANCHOR BOLTS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$4,450.00	1 / each	\$4,450.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPTL-000101-232 Base Bid: LIGHT POLE TYPE 1 (16 foot POLE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$7,775.00	1 / each	\$7,775.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-233 Base Bid: LIGHT POLE TYPE 2 (16 foot POLE W/ BANNER ARMS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$14,950.00	1 / each	\$14,950.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-234 Base Bid: LIGHT POLE TYPE 3 (30 foot POLE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$14,075.00	1 / each	\$14,075.00		Υ			
		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-235 Base Bid: LIGHT POLE TYPE 4 (30 foot POLE W/ 16 PED. MOUNTING BRACKET)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$19,350.00	1 / each	\$19,350.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-236 Base Bid: LIGHT POLE TYPE 5 (30 foot POLE W/ 16 PED MOUNTING PLATE & BANNER ARMS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$12,900.00	1 / each	\$12,900.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-237 Base Bid: Pull Box Type I							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$2,050.00	10 / each	\$20,500.00		Υ		
Product Code:	Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:					

UPTL-000101-238 Base Bid: Pull Box Type II							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$2,200.00	10 / each	\$22,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-239 Base Bid: Pull Box Adjustment							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,000.00	10 / each	\$10,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-0001–01-240 Base Bid: Sheet Aluminum Signs							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$57.00	100 / square foot	\$5,700.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-241 Base Bid: Square Steel Sign Post							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$57.00	50 / linear foot	\$2,850.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-242 Base Bid: Mast Arm Mounted Signs							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$86.00	130 / square foot	\$11,180.00		Υ		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-0001–01-243 Base Bid: Remove Existing Sign							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$265.00	3 / each	\$795.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-244 Base Bid: Traffic Stripe (Plastic) (4-Inch Wide)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1.60	3500 / linear foot	\$5,600.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-245 Base Bid: Traffic Stripe (Plastic) (6-Inch Wide)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$2.40	3500 / linear foot	\$8,400.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-0001–01-246 Base Bid: Traffic Stripe (Plastic) (Arrows) (Single)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$160.00	16 / each	\$2,560.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

UPTL-000101-247 Base Bid: Traffic Stripe (Plastic) (Arrows) (Double)								
Supplier	Unit Price Qty/Unit		Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$320.00	8 / each	\$2,560.00		Y			
Product Code:		Supplier Product Code	: :					
		Supplier Notes:						

UPTL-000101-248 Base Bid: Traffic Stripe (Plastic) (Words)									
Supplier	Unit Price Qty/Unit Total P		Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$130.00	10 / each	\$1,300.00		Y				
Product Code:		Supplier Product Code	: :						
		Supplier Notes:							

UPTL-000101-249 Base Bid: Traffic Stripe (Plastic) (Symbols)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$580.00	5 / each	\$2,900.00		Y			
Product Code:		Supplier Product Code	: :					
		Supplier Notes:						

UPTL-000101-250 Base Bid: Remove Traffic Stripe (4-inch Wide) (SP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$1.30	1000 / linear foot	\$1,300.00		Υ				
Product Code:		Supplier Product Code:							
		Supplier Notes:							

UPTL-000101-251 Base Bid:	Remove Traffic Stripe (6-inch	Wide) (SP)		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$2.00	1000 / linear foot	\$2,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPTL-000101-252 Base Bid: Remove Traffic Stripe (Arrows) (Single) (SP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$75.00	2 / each	\$150.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

UPTL-000101-253 Base Bid: Remove Traffic Stripe (Arrows) (Double) (SP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$150.00	2 / each	\$300.00		Υ				
Product Code:		Supplier Product Code:							
		Supplier Notes:							

UPTL-000101-254 Base Bid: Remove Traffic Stripe (Words) (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$100.00	2 / each	\$200.00		Y			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

UPTL-000101-255 Base Bid: Remove Traffic Stripe (Symbols) (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$315.00	2 / each	\$630.00		Υ			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

UPTL-000101-256 Base Bid: Remove Sidewalk									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$40.00	60 / square yard	\$2,400.00		Y				
Product Code:		Supplier Product Code:							
		Supplier Notes:							

UPTL-000101-257 Base Bid: Sidewalk								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$160.00	210 / square yard	\$33,600.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-258 Base Bid: Tactile Dome									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$65.00	4 / square foot	\$260.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-0001–01-259 Base Bid: Remove Curb and Gutter								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$40.00	75 / square yard	\$3,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-260 Base Bid: Structure Removal (Traffic Signal Mast Arm & Pole)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$4,500.00	1 / each	\$4,500.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

UPTL-0001–01-261 Base Bid: Structure Removal (Mast Arm)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$2,250.00	1 / each	\$2,250.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-0001–01-262 Base Bid: Structural Removal (Signal Pole Foundation)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-263 Base Bid: Structure Removal (Traffic Signal Head)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$350.00	1 / each	\$350.00		Y				
Product Code:		Supplier Product Code	::						
Agency Notes:		Supplier Notes:							

UPTL-000101-264 Base Bid: Structure Removal (Pedestrian Signal Head)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$200.00	1 / each	\$200.00		Υ			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

UPTL-000101-265 Base Bid: Structure Removal (Pedestrian Pole)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$275.00	1 / each	\$275.00		Y				
Product Code:		Supplier Product Code	: :						
Agency Notes:		Supplier Notes:							

UPTL-000101-266 Base Bid: Structure Removal (Light Pole Anchor Bolts)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$175.00	4 / each	\$700.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

UPTL-0001–01-267 Base Bid: Structure Removal (Controller Cabinet)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,000.00	1 / each	\$1,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-268 Base Bid: (PL) Removal of Light Pole							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,600.00	1 / each	\$1,600.00		Y		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-000101-269 Base Bid: (PL) Reset of Light Pole							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$3,450.00	1 / each	\$3,450.00		Y		
		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-0001–01-270 Base Bid: Remove Fixture Off Existing Pole							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$365.00	5 / each	\$1,825.00		Y		
		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-271 Base Bid: Install Provided Fixture Onto Existing Pole							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$450.00	5 / each	\$2,250.00		Υ		
Product Code:			2:				
Agency Notes:		Supplier Notes:					

UPTL-0001–01-272 Base Bid: Solar Luminaire Assembly							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$5,650.00	1 / each	\$5,650.00		Υ		
		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-273 Base Bid: Solar Luminaire Pole Assembly						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$5,475.00	1 / each	\$5,475.00		Y	
Product Code:			Supplier Product Code:			
Agency Notes:		Supplier Notes:				

UPTL-000101-274 Base Bid: Solar Panel Assembly						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$5,250.00	1 / each	\$5,250.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-275 Base Bid: Solar Panel Package							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,875.00	1 / each	\$1,875.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-276 Base Bid: Solar Battery 12V 150 Ah						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$4,330.00	1 / each	\$4,330.00		Y	
		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-277 Base Bid: Solar	Charge Controller Assembly		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$5,335.00	1 / each	\$5,335.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-0001–01-278 Base Bid: Pedestrian LED-enhanced Crossing Warning Sign (SOLAR) W/Pushbutton						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
TLS Group, Inc.	First Offer - \$18,000.00	1 / each	\$18,000.00		Y	
		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPTL-000101-279 Base Bid: Pedestrian LED-enhanced Crossing Warning Sign (SOLAR) Less/Pushbutton								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$18,400.00	1 / each	\$18,400.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-280 Base Bid: LED -enhanced Stop Sign Remove and Replace								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$3,220.00	1 / each	\$3,220.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-281 Base Bid: Double Sided LED -enhanced Pedestrian Crossing Sign Remove and Replace								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$8,810.00	1 / each	\$8,810.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-0001–01-282 Base Bid: Remove and Relocate School Zone Flashing Warning Sign								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$4,800.00	1 / each	\$4,800.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-283 Base Bid: Complete SZF Assembly								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$17,500.00	1 / each	\$17,500.00		Υ			
		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-284 Base Bid: Chronomax Time Clock								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,550.00	1 / each	\$1,550.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

UPTL-000101-285 Base Bid: RG 58 Cable								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$175.00	1 / linear foot	\$175.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

UPTL-000101-286 Base Bid: 9P-9P Cable								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$175.00	1 / linear foot	\$175.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-287 Base Bid: 16 Foot x 4.5 Inch Aluminum Pole								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$1,700.00	1 / each	\$1,700.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPTL-000101-288 Base Bid: Pole Base Assembly								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$690.00	1 / each	\$690.00		Y			
Product Code:	oduct Code: Supr		Supplier Product Code:					
Agency Notes:		Supplier Notes:						

UPTL-000101-289 Base Bid: Pole Base Collar								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$385.00	1 / each	\$385.00		Y			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						

UPTL-000101-290 Base Bid: Pole Caps									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$275.00	1 / each	\$275.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-000101-291 Base Bid: Verizon Cell Modem							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,950.00	1 / each	\$1,950.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-292 Base Bid: Modem Antenna							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$520.00	1 / each	\$520.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				

UPTL-0001–01-293 Base Bid: Cell Modem Antenna							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$520.00	1 / each	\$520.00		Y		
Product Code:	Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:					

UPTL-000101-294 Base Bid: Message Board							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$150.00	1 / each	\$150.00		Y		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

UPTL-000101-295 Base Bid: Track Access Permit							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$800.00	5 / each	\$4,000.00		Y		
Product Code:	Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:					

UPTL-000101-296 Base Bid: Construction Signing and Traffic Control Interstate Shoulder Closure							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$2,750.00	5 / each	\$13,750.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-297 Base Bid: Construction Signing and Traffic Control Interstate Lane Closure							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$3,500.00	5 / each	\$17,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-298 Base Bid: Investigation Rate							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$230.00	8 / hour	\$1,840.00		Υ		
Product Code:	Product Code:		Supplier Product Code:				
		Supplier Notes:					

UPTL-000101-299 Base Bid: Electrician Rate							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$155.00	8 / hour	\$1,240.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-300 Base Bid: Technician Rate							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$225.00	8 / hour	\$1,800.00		Υ		
Product Code:		Supplier Product Code:					
		Supplier Notes:					

UPTL-000101-301 Base Bid: Bucket Truck W/ Operator							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$220.00	8 / hour	\$1,760.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPTL-000101-302 Base Bid: Foreman Truck									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
TLS Group, Inc.	First Offer - \$100.00	8 / hour	\$800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPTL-000101-303 Base Bid: Apprentice Rat	e		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
TLS Group, Inc.	First Offer - \$135.00	8 / hour	\$1,080.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

UPTL-000101-304 Base Bid: Unclassified Excavation								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$55.00	100 / cubic yard	\$5,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-305 Base Bid: Aggregated BaseW/ Excavation								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$200.00	100 / cubic yard	\$20,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-306 Base Bid: PCCP (8 inch) Dowell Jointed HES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$200.00	100 / square yard	\$20,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-307 Base Bid: PCCP (8 inch) Dowell Jointed HES (CHARCOAL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$250.00	100 / square yard	\$25,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-308 Base Bid: PCCP (8 inch) Dowell Jointed HES (SHADOW SLATE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$250.00	25 / square yard	\$6,250.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-309 Base Bid: Concrete Pavement (PAVER UNDERLAYMENT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$140.00	100 / square yard	\$14,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-310 Base Bid: Concrete Unit Paver								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$50.00	100 / square foot	\$5,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-311 Base Bid: Concrete Pavement Removal								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$45.00	250 / square yard	\$11,250.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-312 Base Bid: Asphalt Pavement Removal								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$45.00	250 / square yard	\$11,250.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-313 Base Bid: Remove Curb and Gutter								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-314 Base Bid: Curb and Gutter (2 ft - 0 in) (6 inch BARRIER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$70.00	75 / linear foot	\$5,250.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPTL-000101-315 Base Bid: Color Audio/Video Digital Recording Pre and Post Construction							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
TLS Group, Inc.	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

UPTL-000101-316 Base Bid: Remove and Reset Pavers								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
TLS Group, Inc.	First Offer - \$625.00	25 / square yard	\$15,625.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

Supplier Totals

f TLS Group, I	nc.	\$6,330,145.00 (316/316 items)	
Bid Contact	David Willis dwillis@tlsokc.com Ph 405-524-1341	Address 13305 N Santa Fe Ave. Oklahoma City, OK 73114	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid OCWUT WC-1095 Ended At Feb 12, 2025 10:00:00 AM CST CONSTRUCTION/OCWUT - Waterline Replacement

Company:	Southwest Water Works L.L.C.	Cimarron Construction Company, LLC #3	Brewer Construction Oklahoma LLC
Base Bid	\$1,925,755.00	\$2,672,517.00	\$2,749,053.00
TOTAL BID:	\$1,925,755.00	\$2,672,517.00	\$2,749,053.00

Company:	Matthews Trenching Co., Inc.	
Base Bid	\$3,242,565.00	
TOTAL BID:	\$3,242,565.00	

Tresha Williams	Chad Harrison	Lori Rice
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WC-1095 - Waterline Replacement

Start Date Jan 15, 2025 7:49:28 AM CST Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southwest Water Works L.L.C.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00	Υ	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Cimarron Construction Company, LLC	First Offer - \$108,000.00	1 / lump sum	\$108,000.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$122,785.00	1 / lump sum	\$122,785.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Bid Bond Attached	ode:			

OCWUT WC-109501-02 Base Bid: SWPPP AND EROSION CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$3,444.00	1 / lump sum	\$3,444.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Brewer Construction Oklahoma LLC	First Offer - \$9,120.00	1 / lump sum	\$9,120.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Matthews Trenching Co., Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southwest Water Works L.L.C.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

OCWUT WC-109501-03 Base Bid: AUDIO-VIDEO RECORDING PRE AND POST CONSTRUCTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$1,444.00	1 / lump sum	\$1,444.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Brewer Construction Oklahoma LLC	First Offer - \$7,846.00	1 / lump sum	\$7,846.00		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Southwest Water Works L.L.C.	First Offer - \$30,000.00	1 / lump sum	\$30,000.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

OCWUT WC-109501-04 Base Bid: HYDROSTATIC PRESSURE TESTING AND DISINFECT										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.		First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ				
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
Cimarron Construction Company, LLC		First Offer - \$16,499.00	1 / lump sum	\$16,499.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Matthews Trenching Co., Inc.		First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Brewer Construction Oklahoma LLC		First Offer - \$20,158.00	1 / lump sum	\$20,158.00		Υ				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:						

OCWUT WC-109501-05 Base Bid: TRAFFIC CONTR	OCWUT WC-109501-05 Base Bid: TRAFFIC CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Matthews Trenching Co., Inc.	First Offer - \$12,500.00	1 / lump sum	\$12,500.00		Y					
Product Code:		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Brewer Construction Oklahoma LLC	First Offer - \$18,941.00	1 / lump sum	\$18,941.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$18,999.00	1 / lump sum	\$18,999.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Southwest Water Works L.L.C.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y					
Product Code:		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

OCWUT WC-109501-06 Base Bid: TRENCH EXCAVATION AND SAFETY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Matthews Trenching Co., Inc.	First Offer - \$10.00	4124 / linear foot	\$41,240.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$21.00	4124 / linear foot	\$86,604.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$25.00	4124 / linear foot	\$103,100.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Brewer Construction Oklahoma LLC	First Offer - \$32.00	4124 / linear foot	\$131,968.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-109501-07 Base Bid: 6" PVC WATER LINE BY OPEN CUT (C-900 PVC DR-14)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southwest Water Works L.L.C.	First Offer - \$65.00	80 / linear foot	\$5,200.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

Brewer Construction Oklahoma LLC	First Offer - \$73.00	80 / linear foot	\$5,840.00	Y
Product Code:	Supplier Product Code:			
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$114.00	80 / linear foot	\$9,120.00	Y
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		
Matthews Trenching Co., Inc.	First Offer - \$260.00	80 / linear foot	\$20,800.00	Y
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

OCWUT WC-109501-08 Base Bid: 8" PVC WATER L	OCWUT WC-109501-08 Base Bid: 8" PVC WATER LINE BY OPEN CUT (C-900 PVC DR-14)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Southwest Water Works L.L.C.	First Offer - \$90.00	4044 / linear foot	\$363,960.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Brewer Construction Oklahoma LLC	First Offer - \$116.00	4044 / linear foot	\$469,104.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$131.00	4044 / linear foot	\$529,764.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$265.00	4044 / linear foot	\$1,071,660.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT WC-109501-09 Base Bid: 8" PVC WATER LINE BY BORE WITH STEEL CASING (C-900 PVC DR-14)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southwest Water Works L.L.C.		First Offer - \$150.00	427 / linear foot	\$64,050.00		Υ			
Product Code:			Supplier Product Code	:					
Agency Notes:			Supplier Notes:						
Matthews Trenching Co., Inc.		First Offer - \$385.00	427 / linear foot	\$164,395.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Brewer Construction Oklahoma LLC		First Offer - \$513.00	427 / linear foot	\$219,051.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Cimarron Construction Company, LLC		First Offer - \$872.00	427 / linear foot	\$372,344.00		Υ			
Product Code:			Supplier Product Code	2:					
Agency Notes:			Supplier Notes:						

OCWUT WC-109501-10 Base Bid: 8" PVC WATER LINE BY BORE (C-900 PVC DR-14										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Southwest Water Works L.L.C.	First Offer - \$125.00	580 / linear foot	\$72,500.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							
Cimarron Construction Company, LLC	First Offer - \$262.00	580 / linear foot	\$151,960.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							
Matthews Trenching Co., Inc.	First Offer - \$310.00	580 / linear foot	\$179,800.00		Υ					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							
Brewer Construction Oklahoma LLC	First Offer - \$364.00	580 / linear foot	\$211,120.00		Y					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:							

OCWUT WC-109501-11 Base Bid: 8" 90 DEGREE BEI	ND				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$800.00	2 / each	\$1,600.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$850.00	2 / each	\$1,700.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$1,723.00	2 / each	\$3,446.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-109501-12 Base Bid: 8" 45 DEGREE BEND									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Matthews Trenching Co., Inc.		First Offer - \$750.00	25 / each	\$18,750.00		Υ			
			Supplier Product Co	ode:					
Agency Notes:	_		Supplier Notes:	I		I			
Cimarron Construction Company, LLC		First Offer - \$850.00	25 / each	\$21,250.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Southwest Water Works L.L.C.		First Offer - \$1,000.00	25 / each	\$25,000.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Brewer Construction Oklahoma LLC		First Offer - \$1,625.00	25 / each	\$40,625.00		Y			
Product Code:			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						

OCWUT WC-109501-13 Base Bid: 8" 22.5 DEGREE BEND									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Matthews Trenching Co., Inc.	First Offer - \$750.00	2 / each	\$1,500.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$850.00	2 / each	\$1,700.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$1,000.00	2 / each	\$2,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Brewer Construction Oklahoma LLC	First Offer - \$1,595.00	2 / each	\$3,190.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-109501-14 Base Bid: 8" X 8" TEE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$1,200.00	5 / each	\$6,000.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$1,267.00	5 / each	\$6,335.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

Southwest Water Works L.L.C.	First Offer - \$1,750.00	5 / each	\$8,750.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Brewer Construction Oklahoma LLC	First Offer - \$2,063.00	5 / each	\$10,315.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT WC-109501-15 Base Bid: 8" X 6" TEE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Matthews Trenching Co., Inc.	First Offer - \$1,100.00	1 / each	\$1,100.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$1,167.00	1 / each	\$1,167.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Southwest Water Works L.L.C.	First Offer - \$1,500.00	1 / each	\$1,500.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$1,944.00	1 / each	\$1,944.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

OCWUT WC-109501-16 Base Bid: 6" X 6" TEE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$983.00	2 / each	\$1,966.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Southwest Water Works L.L.C.	First Offer - \$1,250.00	2 / each	\$2,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	2 / each	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Brewer Construction Oklahoma LLC	First Offer - \$2,750.00	2 / each	\$5,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT WC-109501-17 Base Bid: 1-INCH SINGLE V	VATER SERVICE LINE SHOR	T (S.S.S.)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$1,444.00	50 / each	\$72,200.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$1,500.00	50 / each	\$75,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$1,750.00	50 / each	\$87,500.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$3,092.00	50 / each	\$154,600.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-109501-18 Base Bid: 1.5-INCH SINGLE WATER SERVICE LINE SHORT (S.S.S.)							
Supplier Unit Price Qty/Unit Total Price Attch. Docs							

Cimarron Construction Company, LLC	First Offer - \$2,222.00	2 / each	\$4,444.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$2,750.00	2 / each	\$5,500.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$3,500.00	2 / each	\$7,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$4,663.00	2 / each	\$9,326.00	Υ	
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-109501-19 Base Bid: 1-INCH SINGLE WATER SERVICE LINE LONG (S.L.S.)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Southwest Water Works L.L.C.	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Cimarron Construction Company, LLC	First Offer - \$2,084.00	1 / each	\$2,084.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Brewer Construction Oklahoma LLC	First Offer - \$3,931.00	1 / each	\$3,931.00		Υ					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Matthews Trenching Co., Inc.	First Offer - \$4,250.00	1 / each	\$4,250.00		Υ					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							

OCWUT WC-109501-20 Base Bid: 1-INCH SINGLE V	VATER SERVICE LINE EXTRA	LONG (S.X.L.S.)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Southwest Water Works L.L.C.	First Offer - \$2,200.00	57 / each	\$125,400.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$2,233.00	57 / each	\$127,281.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$3,992.00	57 / each	\$227,544.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$4,500.00	57 / each	\$256,500.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

OCWUT WC-109501-21 Base Bid: 2-INCH SINGLE V	OCWUT WC-109501-21 Base Bid: 2-INCH SINGLE WATER SERVICE LINE EXTRA LONG (S.X.L.S.)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC		First Offer - \$4,473.00	1 / each	\$4,473.00		Y			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:					
Southwest Water Works L.L.C.	П	First Offer - \$4,500.00	1 / each	\$4,500.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:					
Matthews Trenching Co., Inc.		First Offer - \$8,500.00	1 / each	\$8,500.00		Υ			
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:					
Brewer Construction Oklahoma LLC		First Offer - \$8,958.00	1 / each	\$8,958.00		Y			

bid #OCWUT WC-1095 -Waterline Replacement

City of Oklahoma City and its Trusts

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

OCWUT WC-109501-22 Base Bid: METER RELOCATION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Southwest Water Works L.L.C.	First Offer - \$1,250.00	57 / each	\$71,250.00		Υ					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Cimarron Construction Company, LLC	First Offer - \$2,111.00	57 / each	\$120,327.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	57 / each	\$142,500.00		Υ					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							
Brewer Construction Oklahoma LLC	First Offer - \$2,592.00	57 / each	\$147,744.00		Υ					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:							

OCWUT WC-109501-23 Base Bid: 12-INCH X 8-INCH TAPPING SLEEVE & VALVE										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.		First Offer - \$2,500.00	1 / each	\$2,500.00		Υ				
			Supplier Product Code: Supplier Notes:							
Matthews Trenching Co., Inc.		First Offer - \$5,500.00	1 / each	\$5,500.00		Υ				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
Brewer Construction Oklahoma LLC		First Offer - \$9,962.00	1 / each	\$9,962.00		Υ				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:						
Cimarron Construction Company, LLC		First Offer - \$11,006.00	1 / each	\$11,006.00		Υ				
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:						

OCWUT WC-109501-24 Base Bid: 24-INCH X 8-INCH TAPPING SLEEVE & VALVE									
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs		
Southwest Water Works L.L.C.		First Offer - \$5,500.00	2 / each		\$11,000.00		Υ		
Product Code:			Supplier Product C	ode:					
Agency Notes:			Supplier Notes:						
Matthews Trenching Co., Inc.		First Offer - \$6,500.00	2 / each		\$13,000.00		Υ		
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Brewer Construction Oklahoma LLC		First Offer - \$10,123.00	2 / each		\$20,246.00		Υ		
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Cimarron Construction Company, LLC		First Offer - \$12,677.00	2 / each		\$25,354.00		Υ		
Product Code:			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						

OCWUT WC-109501-25 Base Bid: 6" GATE VALVE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$2,215.00	13 / each	\$28,795.00		Y		
Product Code:	Supplier Product Code:						
Agency Notes:	Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$2,450.00	13 / each	\$31,850.00		Y		
	·						

Product Code:			Supplier Product Co	ode:	
Agency Notes:			Supplier Notes:		
Brewer Construction Oklahoma LLC		First Offer - \$3,367.00	13 / each	\$43,771.00	Υ
Product Code:		Supplier Product Code:			
Agency Notes:			Supplier Notes:		
Southwest Water Works L.L.C.		First Offer - \$3,500.00	13 / each	\$45,500.00	Υ
Product Code:			Supplier Product Co	ode:	
Agency Notes:			Supplier Notes:		

OCWUT WC-109501-26 Base Bid: 8" GATE VALVE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$2,373.00	8 / each	\$18,984.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$3,800.00	8 / each	\$30,400.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Brewer Construction Oklahoma LLC	First Offer - \$4,281.00	8 / each	\$34,248.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$4,500.00	8 / each	\$36,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

OCWUT WC-109501-27 Base Bid: FIRE HYDRANT ASSEMBLY								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Matthews Trenching Co., Inc.		First Offer - \$8,000.00	10 / each	\$80,000.00		Y		
			Supplier Product Code: Supplier Notes:					
Brewer Construction Oklahoma LLC		First Offer - \$8,060.00	10 / each	\$80,600.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Southwest Water Works L.L.C.		First Offer - \$8,500.00	10 / each	\$85,000.00		Y		
			Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$10,373.00	10 / each	\$103,730.00		Y		
		Supplier Product Code: Supplier Notes:						

OCWUT WC-109501-28 Base Bid: REMOVE AND REPLACE SIDEWALK (5' WIDTH)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southwest Water Works L.L.C.	First Offer - \$115.00	5 / square yard	\$575.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$190.00	5 / square yard	\$950.00		Υ		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$545.00	5 / square yard	\$2,725.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Brewer Construction Oklahoma LLC	First Offer - \$692.00	5 / square yard	\$3,460.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

OCWUT WC-109501-29 Base Bid: REMOVE AND REPLACE DRIVEWAY (CONCRETE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Matthews Trenching Co., Inc.	First Offer - \$160.00	48 / square yard	\$7,680.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$175.00	48 / square yard	\$8,400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$305.00	48 / square yard	\$14,640.00		Y			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
Brewer Construction Oklahoma LLC	First Offer - \$361.00	48 / square yard	\$17,328.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

OCWUT WC-109501-30 Base Bid: PAVEMENT CUT AND PERMANENT REPAIR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southwest Water Works L.L.C.	First Offer - \$215.00	3178 / square yard	\$683,270.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Brewer Construction Oklahoma LLC	First Offer - \$219.00	3178 / square yard	\$695,982.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$251.00	3178 / square yard	\$797,678.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$305.00	3178 / square yard	\$969,290.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

OCWUT WC-109501-31 Base Bid: SODDING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$5.00	1300 / square yard	\$6,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Southwest Water Works L.L.C.	First Offer - \$6.00	1300 / square yard	\$7,800.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$6.00	1300 / square yard	\$7,800.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Brewer Construction Oklahoma LLC	First Offer - \$8.00	1300 / square yard	\$10,400.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes: Supplier Notes:							

Supplier Totals

f Southwest	Water Works L.L.C.	\$1,925,755.00 (31/31 items	s)
Bid Contact	Paul Matthews	Address 201 NW 132nd St	
	paul@swwaterworks.com	Oklahoma City, OK 7311	4
	Ph 405990		
	Fax 405-463-5665		
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch

•			
			Ú
f Cimarron Co	onstruction Company, LLC	\$2,672,517.00 (31/31 items)	
Bid Contact	Don E Noble DNoble@cimarroncco.com Ph 405-728-1555 Fax 405-728-5026	Address 3501 NE. 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Brewer Con	struction Oklahoma LLC	\$2,749,053.00 (31/31 items)	
Bid Contact	Shane Smith michael@brewerok.com Ph 405-787-4962 Fax 405-495-8972	Address 8301 sw 8th oklahoma city, OK 73128	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:			Head Attch:
f Matthews T	renching Co., Inc.	\$3,242,565.00 (31/31 items)	
Bid Contact	Gary Matthews jhendrix@mtciokc.com Ph 405-677-4525	Address 919 S Fairmont Ave Oklahoma City, OK 73129	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #25716 - PLANTS, FLOWERS, TREES, SHRUBS, HORTICULTURE, LANDSCAPING SUPPLIES AND SERVICES

Creation Date **Jan 9, 2025** End Date **Feb 12, 2025 10:00:00 AM CST**

Start Date Jan 22, 2025 7:31:17 AM CST Awarded Date Not Yet Awarded

GreenShade	Trees, LLC			\$45.00 (11/11 items)
Bid Contact	justin@greenshadeok.com Ph 405-265-1980	Address PO BOX 8503 0 Yukon, OK 73		
	S CS ARCH ENG	I		
Agency Notes		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2571601-01	Delivery: Delivery - First Offer	-	1 / day	
Product Code Agency Notes		Supplier Product Code: Supplier Notes: depends on exact order		
2571601-02	Delivery: Delivery - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Code: Supplier Notes: Delivery is available		
			I	Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571602-01	Plants, Flowers, Trees and Shrubs: Store Front - First Offer	5.00%	1 / each	5.00%
Product Code Agency Notes		Supplier Product Code: Supplier Notes: OKC will get Wholesale P		
2571602-02 Product Code	Plants, Flowers, Trees and Shrubs: Price List, Electronic Catalog or Website - First Offer	5.00% Supplier Product Code:	1 / each	5.00%
Agency Notes	:	Supplier Notes:		railability changes daily, items
2571602-03	Plants, Flowers, Trees and Shrubs: Additional Fees - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Code: Supplier Notes: No add		
		I		Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571603-01	Landscaping Services: Landscaping Services - First Offer	\$45.00	1 / hour	\$45.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes: Price per hour, per empl		
				Lot Total: \$45.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571604-01	Horticulture, Greenhouse, Landscape: Store Front - First Offer	5.00%	1 / each	5.00%
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
		5% discount from whole change daily	sale materials, Av	ailability changes daily, items
2571604-02 Product Code Agency Notes		Supplier Product Code: Supplier Notes:		5.00% railability changes daily, items
2571604-03	Horticulture, Greenhouse, Landscape: Additional Fees - First Offer		1 / each	
	, , , , , , , , , , , , , , , , , , ,	!	-	

Product Code: Agency Notes		Supplier Product Code: Supplier Notes: no additional fees		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571605-01	Attachment: Attachment - First Offer		1 / each	
Product Code: Agency Notes				
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571606-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00

				Lot Total: \$0.0
Greenstock	Nurseries			\$0.00 (8/11 items)
<u> 1</u>	.ance Sullivan ance.sullivan@gsnokc.com Ph 405-315-0126	Address 16301 North Ro Oklahoma City ,		e
Agency Notes	:	Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571601-01	Delivery: Delivery - First Offer		1 / day	
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
2571601-02	Delivery: Delivery - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571602-01	Plants, Flowers, Trees and Shrubs: Store Front - First Offer	0.00%	1 / each	0.00%
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
2571602-02	Plants, Flowers, Trees and Shrubs: Price List, Electronic Catalog or Website - First Offer	0.00%	1 / each	0.00%
Product Code Agency Notes		Supplier Product Code: Supplier Notes: Level 5 di	scount (15%) cat	ralog
2571602-03	Plants, Flowers, Trees and Shrubs: Additional Fees - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2571603-01	Landscaping Services: Landscaping Services			No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2571604-01	Horticulture, Greenhouse, Landscape: Store Front			No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
2571604-02	Horticulture, Greenhouse, Landscape: Price List, Electronic Catalog or Website			No Bids
Agency Notes	:	Supplier Product Code: Supplier Notes:		
2571604-03	Horticulture, Greenhouse, Landscape: Additional Fees - First Offer		1 / each	
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
		ı		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
	Attachment: Attachment - First Offer	I .	1 / each	

Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571606-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00

SiteOne Lan	dscape Supply			\$0.00 (7/11 items)
Bid Contact	Keith O McGinty bids@siteone.com Ph 216-706-9250	Address 1385 East 36t Cleveland, Ol		
Qualifications	s CS ARCH ENG			
Agency Notes	:	Supplier Notes:		
ltem#	Line Item	Unit Price	Qty/Unit	Total Price
2571601-01	Delivery: Delivery - First Offer		1 / day	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
2571601-02	Delivery: Delivery - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571602-01 Agency Notes	Plants, Flowers, Trees and Shrubs: Store Front	Supplier Product Code: Supplier Notes:		No Bids
25716 02 02	Plants, Flowers, Trees and Shrubs: Price List, Electronic Catalog or Website - First Offer	· · ·	1 / each	10.00%
Product Code: Agency Notes	:	Supplier Product Code: w Supplier Notes: www.site	ww.siteone.com	
2571602-03	Plants, Flowers, Trees and Shrubs: Additional Fees - First Offer		1 / each	
2571602-03 Product Code :		Supplier Product Code:	1 / each	
	:		1 / each	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		
Product Code: Agency Notes Item#	Line Item	Supplier Product Code:	1 / each	Total Price
Product Code: Agency Notes Item # 2571603-01	Line Item Landscaping Services: Landscaping Services	Supplier Product Code: Supplier Notes: Unit Price		
Product Code: Agency Notes Item#	Line Item Landscaping Services: Landscaping Services	Supplier Product Code: Supplier Notes:		Total Price No Bids
Product Code: Agency Notes Item # 25716-03-01 Agency Notes	Line Item Landscaping Services: Landscaping Services	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes:	Qty/Unit	Total Price No Bids Lot Total: \$0.00
Product Code: Agency Notes Item # 25716-03-01 Agency Notes Item #	Line Item Landscaping Services: Landscaping Services Line Item	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code:		Total Price No Bids Lot Total: \$0.00 Total Price
Product Code: Agency Notes Item # 2571603-01 Agency Notes Item # 2571604-01	Line Item Landscaping Services: Landscaping Services Line Item Horticulture, Greenhouse, Landscape: Store Front	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes: Unit Price	Qty/Unit	Total Price No Bids Lot Total: \$0.00
Product Code: Agency Notes Item # 25716-03-01 Agency Notes Item #	Line Item Landscaping Services: Landscaping Services Line Item Horticulture, Greenhouse, Landscape: Store Front	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes:	Qty/Unit	Total Price No Bids Lot Total: \$0.00 Total Price
Product Code: Agency Notes Item # 2571603-01 Agency Notes Item # 2571604-01	Line Item Landscaping Services: Landscaping Services Line Item Horticulture, Greenhouse, Landscape: Store Front	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code:	Qty/Unit	Total Price No Bids Lot Total: \$0.00 Total Price
Product Code: Agency Notes Item # 2571603-01 Agency Notes Item # 2571604-01 Agency Notes	Line Item Landscaping Services: Landscaping Services Line Item Horticulture, Greenhouse, Landscape: Store Front Horticulture, Greenhouse, Landscape: Price List, Electronic Catalog or Website	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code:	Qty/Unit	Total Price No Bids Lot Total: \$0.00 Total Price No Bids
Product Code: Agency Notes Item # 25716-03-01 Agency Notes Item # 25716-04-01 Agency Notes	Line Item Landscaping Services: Landscaping Services Line Item Horticulture, Greenhouse, Landscape: Store Front Horticulture, Greenhouse, Landscape: Price List, Electronic Catalog or Website	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:	Qty/Unit	Total Price No Bids Lot Total: \$0.00 Total Price No Bids
Product Code: Agency Notes Item # 25716-03-01 Agency Notes Item # 25716-04-01 Agency Notes 25716-04-02 Agency Notes 25716-04-03 Product Code:	Line Item Landscaping Services: Landscaping Services Line Item Horticulture, Greenhouse, Landscape: Store Front Horticulture, Greenhouse, Landscape: Price List, Electronic Catalog or Website Horticulture, Greenhouse, Landscape: Additional Fees - First Offer Horticulture, Greenhouse, Landscape: Additional Fees - First Offer	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:	Qty/Unit Qty/Unit	Total Price No Bids Lot Total: \$0.00 Total Price No Bids
Product Code: Agency Notes Item # 25716-03-01 Agency Notes Item # 25716-04-01 Agency Notes 25716-04-02 Agency Notes 25716-04-03 Product Code:	Line Item Landscaping Services: Landscaping Services Line Item Horticulture, Greenhouse, Landscape: Store Front Horticulture, Greenhouse, Landscape: Price List, Electronic Catalog or Website Horticulture, Greenhouse, Landscape: Additional Fees - First Offer Horticulture, Greenhouse, Landscape: Additional Fees - First Offer	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:	Qty/Unit Qty/Unit	Total Price No Bids Lot Total: \$0.00 Total Price No Bids No Bids
Product Code: Agency Notes Item # 25716-03-01 Agency Notes Item # 25716-04-01 Agency Notes 25716-04-02 Agency Notes 25716-04-03 Product Code:	Line Item Landscaping Services: Landscaping Services Line Item Horticulture, Greenhouse, Landscape: Store Front Horticulture, Greenhouse, Landscape: Price List, Electronic Catalog or Website Horticulture, Greenhouse, Landscape: Additional Fees - First Offer Horticulture, Greenhouse, Landscape: Additional Fees - First Offer	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:	Qty/Unit Qty/Unit	Total Price No Bids Lot Total: \$0.00 Total Price No Bids No Bids
Product Code: Agency Notes Item # 25716-03-01 Agency Notes Item # 25716-04-01 Agency Notes 25716-04-02 Agency Notes 25716-04-03 Product Code: Agency Notes	Line Item Landscaping Services: Landscaping Services Line Item Horticulture, Greenhouse, Landscape: Store Front Horticulture, Greenhouse, Landscape: Price List, Electronic Catalog or Website Horticulture, Greenhouse, Landscape: Additional Fees - First Offer :	Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes: Unit Price Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Unit Price Unit Price	Qty/Unit Qty/Unit	Lot Total: \$0.00 Total Price No Bids

Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571606-01	W-9: W-9 - First Offer		1 / each	
Product Code:		Supplier Product Code:		
Agency Notes	:	Supplier Notes:		
				Lot Total: \$0.00

	Close Print	
Tresha Williams	Chad Harrison	Lori Rice
City Clerk	Purchasing Agent	Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #25718 - Overnight Security Services for Parks

Creation Date Jan 15, 2025 End Date Feb 12, 2025 10:00:00 AM CST

Start Date Jan 22, 2025 7:31:17 AM CST Awarded Date Not Yet Awarded

Stonewall Security \$771.98 (21/21 items) Address 1712 Fremont Dr Bid Contact **Richard Sturt** stonewallsecserv@gmail.com Oklahoma City, OK 73120 Ph 405-250-7793 Qualifications CS ARCH ENG **Agency Notes: Supplier Notes:** Item# Line Item **Unit Price** Qty/Unit **Total Price** 25718--01-01 Armed: Cleet certified law enforcement officers-Regular - First Offer \$40.25 1 / hour \$40.25 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 25718--01-02 Armed: Cleet certified law enforcement officers-OT - First Offer \$60.37 1 / hour \$60.37 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 25718--01-03 Armed: Cleet certified law enforcement officers-OT - First Offer \$60.37 1 / hour \$60.37 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 25718--01-04 Armed: Off duty police officers-Regular - First Offer \$40.25 1 / hour \$40.25 **Supplier Product Code:** Product Code: Agency Notes: **Supplier Notes:** 1 / hour 25718--01-05 Armed: Off duty police officers-OT - First Offer \$60.37 \$60.37 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 1 / hour Armed: Off duty police officers-Holiday - First Offer 25718--01-06 \$60.37 \$60.37 **Supplier Product Code:** Product Code: **Supplier Notes:** Agency Notes: 1 / hour 25718--01-07 Armed: CLEET certified, licensed security officers-Regular - First Offer \$28.00 \$28.00 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** \$42.00 1 / hour \$42.00 25718--01-08 Armed: CLEET certified, licensed security officers-OT - First Offer **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 25718--01-09 Armed: CLEET certified, licensed security officers-Holiday - First Offer \$42.00 1 / hour \$42.00 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** Lot Total: \$433.98 Line Item **Unit Price** Qty/Unit **Total Price** Item # 25718--02-01 Un-Armed: Un-Armed: Cleet certified law enforcement officers-Regular - First Offer \$25.00 1 / hour \$25.00 **Supplier Product Code: Product Code: Supplier Notes: Agency Notes:** 25718--02-02 Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer \$37.50 1 / hour \$37.50 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 25718--02-03 Un-Armed: Un-Armed: Cleet certified law enforcement officers-Holiday - First Offer \$37.50 1 / hour \$37.50

Iron Horse Security, LLC

2/25, 10:42 AM	Periscope Source: Bid Tabulation Report			
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
2571802-04	Un-Armed: Un-Armed: Off duty police officers-Regular - First Offer	\$34.50	1 / hour	\$34.50
Product Code Agency Notes		Supplier Product Supplier Notes:	Code:	
2571802-05	Un-Armed: Un-Armed: Off duty police officers-OT - First Offer	\$51.75	1 / hour	\$51.75
Product Code Agency Notes		Supplier Product Supplier Notes:	Code:	
2571802-06	Un-Armed: Un-Armed: Off duty police officers-Holiday - First Offer	\$51.75	1 / hour	\$51.75
Product Code Agency Notes		Supplier Product Supplier Notes:	Code:	
2571802-07	Un-Armed: Unarmed, CLEET certified, licensed security officers-Regular - First Offer	\$25.00	1 / hour	\$25.00
Product Code Agency Notes		Supplier Product Supplier Notes:	Code:	
2571802-08	Un-Armed: Unarmed, CLEET certified, licensed security officers-OT - First Offer	\$37.50	1 / hour	\$37.50
Product Code Agency Notes		Supplier Product Supplier Notes:	Code:	
2571802-09	Un-Armed: Unarmed, CLEET certified, licensed security officers-Holiday - First Offer	\$37.50	1 / hour	\$37.50
Product Code Agency Notes		Supplier Product Supplier Notes:	Code:	
				Lot Total: \$338.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2571803-01	Attachments: Uniform Specifications - First Offer		1 / ea	
Product Code Agency Notes		Supplier Product Supplier Notes:	Code:	
2571803-02	Attachments: Manual - First Offer		1 / ea	
Product Code Agency Notes		Supplier Product Supplier Notes:	Code:	
2571803-03	Attachments: W9 - First Offer		1 / ea	
Product Code Agency Notes		Supplier Product Supplier Notes:	Code:	
				Lot Total: \$0.00

<u>r</u>	•	7633 East 63rd P Fulsa, OK 74133	lace, Suite 4	150
Agency Notes	:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2571801-01	Armed: Cleet certified law enforcement officers-Regular - First Offer	\$42.50	1 / hour	\$42.50
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
2571801-02	Armed: Cleet certified law enforcement officers-OT - First Offer	\$63.75	1 / hour	\$63.75
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
2571801-03	Armed: Cleet certified law enforcement officers-OT - First Offer	\$63.75	1 / hour	\$63.75
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
2571801-04	Armed: Off duty police officers-Regular - First Offer	\$42.50	1 / hour	\$42.50
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
2571801-05	Armed: Off duty police officers-OT - First Offer	\$63.75	1 / hour	\$63.75

\$900.00 (21/21 items)

ı		1		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571801-06	Armed: Off duty police officers-Holiday - First Offer	\$63.75	1 / hour	\$63.75
Product Code:	**	Supplier Product	1	1 403.73
Agency Notes		Supplier Notes:		
2571801-07	Armed: CLEET certified, licensed security officers-Regular - First Offer	\$42.50	1 / hour	\$42.50
Product Code:		Supplier Product Supplier Notes:	Code:	
Agency Notes 2571801-08	Armed: CLEET certified, licensed security officers-OT - First Offer	\$63.75	1 / hour	\$63.75
Product Code:	· · · · · · · · · · · · · · · · · · ·	Supplier Product		\$03.75
Agency Notes:		Supplier Notes:	couc.	
2571801-09	Armed: CLEET certified, licensed security officers-Holiday - First Offer	\$63.75	1 / hour	\$63.75
Product Code:		Supplier Product	Code:	
Agency Notes		Supplier Notes:		
				Lot Total: \$510.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571802-01	Un-Armed: Un-Armed: Cleet certified law enforcement officers-Regular - First Offer	\$32.50	1 / hour	\$32.50
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571802-02	Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer	\$48.75	1 / hour	\$48.75
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571802-03	Un-Armed: Un-Armed: Cleet certified law enforcement officers-Holiday - First Offer	\$48.75	1 / hour	\$48.75
Product Code:		Supplier Product	Code:	1
Agency Notes		Supplier Notes:	I	I
2571802-04	Un-Armed: Un-Armed: Off duty police officers-Regular - First Offer	\$32.50	1 / hour	\$32.50
Product Code: Agency Notes:		Supplier Product Supplier Notes:	: Code:	
2571802-05	Un-Armed: Un-Armed: Off duty police officers-OT - First Offer	\$48.75	1 / hour	\$48.75
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571802-06	Un-Armed: Un-Armed: Off duty police officers-Holiday - First Offer	\$48.75	1 / hour	\$48.75
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
	Un-Armed: Unarmed, CLEET certified, licensed security officers-Regular - First Offer	\$32.50	1 / hour	\$32.50
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
2571802-08	Un-Armed: Unarmed, CLEET certified, licensed security officers-OT - First Offer	\$48.75	1 / hour	\$48.75
Product Code:	•	Supplier Product		\$40.73
Agency Notes		Supplier Notes:	ı	ı
2571802-09	Un-Armed: Unarmed, CLEET certified, licensed security officers-Holiday - First Offer	\$48.75	1 / hour	\$48.75
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
				Lot Total: \$390.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571803-01	Attachments: Uniform Specifications - First Offer		1 / ea	
Product Code:		Supplier Product	Code:	
Agency Notes		Supplier Notes:	1/22	
2571803-02	Attachments: Manual - First Offer	Cumplion Duader	1 / ea	
Product Code: Agency Notes		Supplier Product Supplier Notes:	. coue:	
2571803-03	Attachments: W9 - First Offer		1 / ea	

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes:
Lot Total: \$0.00

Extensive Enterprises LLC \$1,023.35 (21/21 items) Bid Contact Jeff Porter Address 1513 North Sterling Avenue jeff.porter@cobrasecurityllc.net **OKLAHOMA CITY, OK 73127-4057** Ph 405-757-0785 Qualifications CS ARCH ENG Prices shown for Law Enforcement Officers are for non OKC Law Enforcement Officers only. **Bid Notes Agency Notes:** Supplier Notes: Prices shown for Law Enforcement Officers are for non OKC Law Enforcement Officers only. Line Item Qty/Unit **Total Price** Item# **Unit Price** 25718--01-01 \$47.17 \$47.17 Armed: Cleet certified law enforcement officers-Regular - First Offer 1 / hour **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: The price is for non OKC law enforcement officers Armed: Cleet certified law enforcement officers-OT - First Offer 25718--01-02 \$70.75 1 / hour \$70.75 Product Code: **Supplier Product Code:** Supplier Notes: The price is for non OKC law Agency Notes: enforcement officers 25718--01-03 Armed: Cleet certified law enforcement officers-OT - First Offer \$70.75 1 / hour \$70.75 **Supplier Product Code: Product Code:** Supplier Notes: The price is for non OKC law **Agency Notes:** enforcement officers 25718--01-04 Armed: Off duty police officers-Regular - First Offer \$47.17 1 / hour \$47.17 Product Code: **Supplier Product Code:** Supplier Notes: The price is for non OKC law **Agency Notes:** enforcement officers 25718--01-05 Armed: Off duty police officers-OT - First Offer \$70.75 1 / hour \$70.75 Product Code: **Supplier Product Code: Agency Notes:** Supplier Notes: The price is for non OKC law enforcement officers \$70.75 25718--01-06 Armed: Off duty police officers-Holiday - First Offer 1 / hour \$70.75 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 25718--01-07 Armed: CLEET certified, licensed security officers-Regular - First Offer \$37.17 1 / hour \$37.17

Product Code:	·	Supplier Product	Code:	
Agency Notes:		Supplier Notes:	. couc.	
2571801-08	Armed: CLEET certified, licensed security officers-OT - First Offer	\$55.75	1 / hour	\$55.75
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571801-09	Armed: CLEET certified, licensed security officers-Holiday - First Offer	\$55.75	1 / hour	\$55.75
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
				Lot Total: \$526.01
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571802-01	Un-Armed: Un-Armed: Cleet certified law enforcement officers-Regular - First Offer	\$47.17	1 / hour	\$47.17
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		
2571802-02	Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer	\$70.75	1 / hour	\$70.75
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571802-03	Un-Armed: Un-Armed: Cleet certified law enforcement officers-Holiday - First Offer	\$70.75	1 / hour	\$70.75
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571802-04	Un-Armed: Un-Armed: Off duty police officers-Regular - First Offer	\$47.17	1 / hour	\$47.17
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571802-05	Un-Armed: Un-Armed: Off duty police officers-OT - First Offer		1 / hour	\$70.75
Product Code: Agency Notes:		Supplier Product Supplier Notes:		470.73
2571802-06	Un-Armed: Un-Armed: Off duty police officers-Holiday - First Offer		1 / hour	\$70.75
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571802-07	Un-Armed: Unarmed, CLEET certified, licensed security officers-Regular - First Offer	\$30.00	1 / hour	\$30.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571802-08	Un-Armed: Unarmed, CLEET certified, licensed security officers-OT - First Offer	\$45.00	1 / hour	\$45.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571802-09	Un-Armed: Unarmed, CLEET certified, licensed security officers-Holiday - First Offer	\$45.00	1 / hour	\$45.00
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
				Lot Total: \$497.34
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571803-01	Attachments: Uniform Specifications - First Offer		1 / ea	
Product Code: Agency Notes:			Jniform consi n shirt in shor . Grey pants o old wear gear y insignia. Bla	is black jacket or
2571803-02	Attachments: Manual - First Offer		1 / ea	
Product Code:		Supplier Product	Code:	<u> </u>
Agency Notes:		Supplier Notes:		

Direct Protective Services, LLC \$1,130.00 (21/21 items) Bid Contact Justin Roberson Address 2700 Coltrane Place Suite 1 **Edmond. OK 73034** admin@directprotective.com Ph 405-249-4181 **Agency Notes: Supplier Notes:** Item# Line Item **Unit Price** Qty/Unit **Total Price** 25718--01-01 Armed: Cleet certified law enforcement officers-Regular - First Offer \$52.50 1 / hour \$52.50 **Product Code: Supplier Product Code:** Agency Notes: **Supplier Notes:** 25718--01-02 Armed: Cleet certified law enforcement officers-OT - First Offer \$78.75 1 / hour \$78.75 **Supplier Product Code: Product Code: Agency Notes: Supplier Notes:** 25718--01-03 Armed: Cleet certified law enforcement officers-OT - First Offer \$78.75 1 / hour \$78.75 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** 25718--01-04 Armed: Off duty police officers-Regular - First Offer \$52.50 1 / hour \$52.50 **Product Code: Supplier Product Code:** Agency Notes: **Supplier Notes:** \$78.75 \$78.75 25718--01-05 Armed: Off duty police officers-OT - First Offer 1 / hour **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 25718--01-06 Armed: Off duty police officers-Holiday - First Offer \$78.75 1 / hour \$78.75 **Product Code: Supplier Product Code:** Agency Notes: **Supplier Notes:** 25718--01-07 Armed: CLEET certified, licensed security officers-Regular - First Offer \$40.00 1 / hour \$40.00 **Supplier Product Code: Product Code: Supplier Notes: Agency Notes:** 25718--01-08 Armed: CLEET certified, licensed security officers-OT - First Offer \$60.00 1 / hour \$60.00 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 25718--01-09 Armed: CLEET certified, licensed security officers-Holiday - First Offer \$60.00 1 / hour \$60.00 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Lot Total: \$580.00 Item# Line Item **Unit Price** Qty/Unit **Total Price** 25718--02-01 Un-Armed: Un-Armed: Cleet certified law enforcement officers-Regular - First Offer \$52.50 1 / hour \$52.50 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Law Enforcement Officers typically will not work unarmed 25718--02-02 Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer \$78.75 1 / hour \$78.75 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:**

12/23, 10.42 AW	i chiscope cource. Bid fabulat	ion report		
		Most Law Enforce unarmed	ment Officer	s will not work
2571802-03	Un-Armed: Un-Armed: Cleet certified law enforcement officers-Holiday - First Offer	\$78.75	1 / hour	\$78.75
Product Code: Agency Notes:	·	Supplier Product Supplier Notes: Most Law Enforce unarmed	Code:	
2571802-04	Un-Armed: Un-Armed: Off duty police officers-Regular - First Offer	\$52.50	1 / hour	\$52.50
Product Code: Agency Notes:		Supplier Product Supplier Notes: Most Law Enforce unarmed		's will not work
2571802-05	Un-Armed: Un-Armed: Off duty police officers-OT - First Offer	\$78.75	1 / hour	\$78.75
Product Code: Agency Notes:		Supplier Product Supplier Notes: Most Law Enforce unarmed		s will not work
2571802-06	Un-Armed: Un-Armed: Off duty police officers-Holiday - First Offer	\$78.75	1 / hour	\$78.75
Product Code: Agency Notes:		Supplier Product Supplier Notes: Most Law Enforce unarmed	Code:	1
2571802-07	Un-Armed: Unarmed, CLEET certified, licensed security officers-Regular - First Offer	\$32.50	1 / hour	\$32.50
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	

12/25, 10:42 AM	Periscope Source: Bid Tabulati	on Report		
2571802-08	Un-Armed: Unarmed, CLEET certified, licensed security officers-OT - First Offer	\$48.75	1 / hour	\$48.75
Product Code: Agency Notes		Supplier Product Supplier Notes:	: Code:	
2571802-09	Un-Armed: Unarmed, CLEET certified, licensed security officers-Holiday - First Offer	\$48.75	1 / hour	\$48.75
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
				Lot Total: \$550.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571803-01	Attachments: Uniform Specifications - First Offer		1 / ea	
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
2571803-02	Attachments: Manual - First Offer		1 / ea	
Product Code: Agency Notes		for this site until w	Ve will not ha ve would take d efficient way ular details o	ve an accurate SOP the site over. There to provide this until f this site and its
2571803-03	Attachments: W9 - First Offer		1 / ea	
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:	
				Lot Total: \$0.00

CABRAL ASSET PROTECTION SERVICES

\$1,143.00 (21/21 items)

Bid Contact **Jacob Bautista**

j<u>bautis18@gmail.com</u> Ph 214-791-4554 Address **800 SE 60TH TER Oklahoma City, OK 73149**

P	n 214-/91-4554				
Agency Notes	:	Supplier Notes:			
Item#	Line Item	Unit Price	Unit Price Qty/Unit Total I		
2571801-01	Armed: Cleet certified law enforcement officers-Regular - First Offer	\$65.00	1 / hour	\$65.00	
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:		
2571801-02	Armed: Cleet certified law enforcement officers-OT - First Offer	\$98.00	1 / hour	\$98.00	
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:		
2571801-03	Armed: Cleet certified law enforcement officers-OT - First Offer	\$98.00	1 / hour	\$98.00	
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:		
2571801-04	Armed: Off duty police officers-Regular - First Offer	\$57.00	1 / hour	\$57.00	
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:		
2571801-05	Armed: Off duty police officers-OT - First Offer	\$86.00	1 / hour	\$86.00	
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:		
2571801-06	Armed: Off duty police officers-Holiday - First Offer	\$86.00	1 / hour	\$86.00	
Product Code: Agency Notes		Supplier Product Supplier Notes:	Code:		
2571801-07	Armed: CLEET certified, licensed security officers-Regular - First Offer	\$39.00	1 / hour	\$39.00	

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
2571801-08 Armed: CLEET certified, licensed security officers-OT - First Offe	r \$59.00	1 / hour	\$59.00
Product Code: Agency Notes:	Supplier Product Supplier Notes:	t Code:	
2571801-09 Armed: CLEET certified, licensed security officers-Holiday - First Offe	r \$59.00	1 / hour	\$59.00
Product Code:	Supplier Product	t Code:	
Agency Notes:	Supplier Notes:		
			Lot Total: \$647.00
Item# Line Item	Unit Price	Qty/Unit	Total Price
2571802-01 Un-Armed: Un-Armed: Cleet certified law enforcement officers-Regular - First Offe	r \$34.00	1 / hour	\$34.00
Product Code: Agency Notes:	Supplier Product Supplier Notes:	t Code:	
2571802-02 Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offe	r \$51.00	1 / hour	\$51.00
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Supplier Product Code: Supplier Notes:	
2571802-03 Un-Armed: Un-Armed: Cleet certified law enforcement officers-Holiday - First Offe		1 / hour	\$51.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
2571802-04 Un-Armed: Un-Armed: Off duty police officers-Regular - First Offe	r \$50.00	1 / hour	\$50.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
2571802-05 Un-Armed: Un-Armed: Off duty police officers-OT - First Offe		1 / hour	\$75.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
2571802-06 Un-Armed: Un-Armed: Off duty police officers-Holiday - First Offe	r \$75.00	1 / hour	\$75.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
2571802-07 Un-Armed: Unarmed, CLEET certified, licensed security officers-Regular - First Offe	r \$40.00	1 / hour	\$40.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
2571802-08 Un-Armed: Unarmed, CLEET certified, licensed security officers-OT - First Offe	r \$60.00	1 / hour	\$60.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
2571802-09 Un-Armed: Unarmed, CLEET certified, licensed security officers-Holiday - First Offe	r \$60.00	1 / hour	\$60.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
			Lot Total: \$496.00
Item# Line Item	Unit Price	Qty/Unit	Total Price
2571803-01 Attachments: Uniform Specifications - First Offe	r	1 / ea	
Product Code: Agency Notes:	Supplier Product Supplier Notes:	t Code:	
2571803-02 Attachments: Manual - First Offe	r	1 / ea	
Product Code: Agency Notes:	Supplier Product Supplier Notes:	t Code:	
2571803-03 Attachments: W9 - First Offe	r	1 / ea	
Product Code: Agency Notes:	Supplier Product Supplier Notes:	t Code:	
			Lot Total: \$0.00

Oklahoma Ride Care, LLC \$1,820.00 (21/21 items)

Bid Contact David Roberts Address 17401 Timberline Court david@okridecare.com Norman, OK 73071 Ph 405-250-9973 Bid Notes These rates include fully trained guards/officers, equipment, communication devices, late model vehicles (equipped with necessary gear, required flashing lights, and signage), along with insurance coverage, maintenance, fuel, and administrative oversight. **Agency Notes: Supplier Notes:** These rates include fully trained guards/officers, equipment, communication devices, late model vehicles (equipped with necessary gear, required flashing lights, and signage), along with insurance coverage, maintenance, fuel, and administrative oversight. Item# Line Item **Unit Price** Qty/Unit **Total Price** 25718--01-01 Armed: Cleet certified law enforcement officers-Regular - First Offer \$60.00 1 / hour \$60.00 **Supplier Product Code: Product Code: Agency Notes: Supplier Notes:** Includes vehicle 25718--01-02 Armed: Cleet certified law enforcement officers-OT - First Offer \$120.00 1 / hour \$120.00 Product Code: **Supplier Product Code: Agency Notes: Supplier Notes:** Includes vehicle 25718--01-03 \$120.00 Armed: Cleet certified law enforcement officers-OT - First Offer 1 / hour \$120.00 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** Includes vehicle 25718--01-04 Armed: Off duty police officers-Regular - First Offer \$80.00 1 / hour \$80.00 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Includes vehicle 25718--01-05 Armed: Off duty police officers-OT - First Offer \$160.00 1 / hour \$160.00 **Supplier Product Code: Product Code:** Agency Notes: **Supplier Notes:** Includes vehicle 1 / hour 25718--01-06 Armed: Off duty police officers-Holiday - First Offer \$160.00 \$160.00 **Product Code: Supplier Product Code:** Supplier Notes: Includes vehicle **Agency Notes:**

Product Code: Agency Notes: 25718-01-08		·	I		
Product Code: Agency Notes: 25718-01-08					
Product Code: Agency Notes: 25718-01-08	2571801-07	Armed: CLEET certified, licensed security officers-Regular - First Offer	\$47.00	1 / hour	\$47.00
Product Code: Agency Notes: Agency Notes: 25718–01-09			Supplier Product Supplier Notes:	Code:	
Agency Notes: Supplier Notes: Includes vehicle	2571801-08	Armed: CLEET certified, licensed security officers-OT - First Offer	\$94.00	1 / hour	\$94.00
Product Code: Agency Notes: Lot Total: \$ Item # Line Item Unit Price Qty/Unit Tot. 2571802-01 Un-Armed: Un-Armed: Cleet certified law enforcement officers-Regular - First Offer \$60.00 1 / hour Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Includes vehicle Supplier Product Code: Supplier Product Code: Supplier Notes: Includes vehicle \$718-02-02 Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer \$120.00 1 / hour \$1 /			Supplier Notes:	Code:	
Product Code: Agency Notes: Lot Total: \$ Item # Line Item Unit Price Qty/Unit Tot. 2571802-01 Un-Armed: Un-Armed: Cleet certified law enforcement officers-Regular - First Offer \$60.00 1 / hour Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Includes vehicle Supplier Product Code: Supplier Product Code: Supplier Notes: Includes vehicle \$718-02-02 Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer \$120.00 1 / hour \$1 /	2571801-09	Armed: CLEET certified, licensed security officers-Holiday - First Offer	\$94.00	1 / hour	\$94.00
Item #Line ItemUnit PriceQty/UnitTotal2571802-01Un-Armed: Un-Armed: Cleet certified law enforcement officers-Regular - First Offer\$60.001 / hourProduct Code: Supplier Product Code: Supplier Notes: Includes vehicle2571802-02Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer\$120.001 / hour\$Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Product Code:		Supplier Product Supplier Notes:		
2571802-01 Un-Armed: Un-Armed: Cleet certified law enforcement officers-Regular - First Offer \$60.00 1 / hour Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Includes vehicle 2571802-02 Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer \$120.00 1 / hour \$Product Code: Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:					Lot Total: \$935.00
Product Code: Agency Notes: 2571802-02 Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer Product Code: Agency Notes: Supplier Product Code: \$120.00 1 / hour \$ Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Item#	Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes: Supplier Notes: Includes vehicle 2571802-02 Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer \$120.00 1 / hour \$ Product Code: Agency Notes: Supplier Product Code: Supplier Notes:	2571802-01	$\label{lem:continuous} \mbox{Un-Armed: Cleet certified law enforcement of ficers-Regular-First\ Offer}$	\$60.00	1 / hour	\$60.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:			Supplier Notes:	Code:	
Agency Notes: Supplier Notes:	2571802-02	Un-Armed: Un-Armed: Cleet certified law enforcement officers-OT - First Offer	\$120.00	1 / hour	\$120.00
			Supplier Notes:	Code:	
2571802-03 Un-Armed: Un-Armed: Cleet certified law enforcement officers-Holiday - First Offer \$120.00 1 / hour \$	2571802-03	Un-Armed: Un-Armed: Cleet certified law enforcement officers-Holiday - First Offer	\$120.00	1 / hour	\$120.00

Product Code: Agency Notes		Supplier Product Supplier Notes: Includes vehicle	t Code:	
2571802-04	Un-Armed: Un-Armed: Off duty police officers-Regular - First Offer	\$80.00	1 / hour	\$80.00
Product Code Agency Notes		Supplier Product Supplier Notes: Includes vehicle	t Code:	
2571802-05	Un-Armed: Un-Armed: Off duty police officers-OT - First Offer		1 / hour	\$160.00
Product Code: Agency Notes		Supplier Product Supplier Notes: Includes vehicle		
2571802-06 Product Code: Agency Notes		\$160.00 Supplier Product Supplier Notes: Includes vehicle	t Code:	\$160.00
2571802-07	Un-Armed: Unarmed, CLEET certified, licensed security officers-Regular - First Offer	\$37.00	1 / hour	\$37.00
Product Code Agency Notes		Supplier Product Supplier Notes: Includes vehicle	t Code:	

2571802-08	Un-Armed: Unarmed, CLEET certified, licensed security officers-OT - First Offer	\$74.00	1 / hour	\$74.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: Includes vehicle	Code:	
2571802-09	Un-Armed: Unarmed, CLEET certified, licensed security officers-Holiday - First Offer	\$74.00	1 / hour	\$74.00
Product Code: Agency Notes:		Supplier Product Supplier Notes: Includes vehicle	Code:	
		I	I	Lot Total: \$885.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2571803-01	Attachments: Uniform Specifications - First Offer		1 / ea	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Officed in the Oklahoma City metro, DR Security hires Oklahomans to work as guards and leadership. Currently, DR Security provides security services for 12 facilities in the Oklahoma City metro area and employees more than 40 full-time guards. DR Security has fulfilled the obligations of every public contract weâ ve entered, and in fact, we continue to work with most of our original contracts. Since DR Securityâ s inception in 2011 we have not merged with or acquired other organizations and have no plans to do so in the future. Further, we do not subcontract for other companies, and we have no subcontractors performing services for us. We have the capacity tacquire all bonds or insurances outlined in this RFP.		
2571803-02	Attachments: Manual - First Offer		1 / ea	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
2571803-03	Attachments: W9 - First Offer		1 / ea	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
<u> </u>				

Tresha Williams	Chad Harrison	Lori Rice
City Clerk	Purchasing Agent	Auditor
·	Close Print	

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.